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Section A  
The questions 1 – 60 in this paper are numbered and four options follow each question. 
The options are labeled a,b,c,d. Only one of these options is correct. Select your answer 
for each question and indicate it on the answer form by filling in the appropriate box. 
Example:  
A comprehensive motor insurance policy would provide cover for: 

(a) Accidental damage to the vehicle  
(b) Wear and tear and depreciation 
(c) Mechanical and electrical failure or breakdown  
(d) Damage to tyres caused by road punctures or burst 

The correct option is (a). 
 
Section B   
Questions 61 – 85 are to be answered as either True (T) or False (F). Select your chosen 
option and indicate it on the answer form by filling in the appropriate box.  
Example:  
A comprehensive motor insurance policy would provide cover for all types of 
accidental damages without any exclusion (True or False).  
The correct option is False (F).  
 
Section C  
Questions 86 – 100. This section contains four (4) case studies each followed by some 
questions. The case studies are not numbered and appear at the top of the page. Each 
of the questions following a case study is numbered. Four options follow each 
question. The options are labelled, a, b, c, d. Only one of these options is correct or 
best. Select your answer for each question and indicate it on the answer form by filling 
in the appropriate box.  
 
 
 
 
 



 

SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 – 60) 
 
1. Which of these is not a definition of risk? 

(a) The possibility of an unfortunate occurrence 

(b) Doubt concerning the outcome of a situation  

(c) The possibility of loss 

(d) The returns from an uninsurable event 

 

2. Which of these provides that there must be a loss or no loss situation? 

(a) Particular Risk    (b) Pure Risk  

(c) Speculative Risk   (d) Mobile Risk  

 

3. Inflation is an example of … risk. 

(a)  speculative  (b) Fundamental   (c) pure  (d) mobile  

 

4.  Change in taste or fashion is an example of … risk.  

(a) static  (b) financial  (c) non-financial  (d) fundamental 

 

5. … exposure is another name for uncertainty/accidental nature of risk.  

(a) Homogeneous  (b) Fortuitous  (c) Chance (d) Risk 

 

6. The amount of loss is described as … 

(a) severity (b) frequency (c) chance  (d) exposures 

 

7.  … influences the operation of the peril.  

(a) Severity (b) Chance (c) Risk  (d) Hazard 

 

8. By operating a pooling of risk system, the law of large numbers assists insurers in 

making reliable … 

(a) claim payment    (b) investment return predictions 

(c) new business predictions  (d) premium income predictions 

 

9. … insurance is the term used when there are two or more policies in force which cover 

the same risk.  

(a) Self  (b) Dual  (c) Mutual  (d) Proprietary 

 

10. An example of property insurance is … 

(a) fidelity guarantee   (b) legal expenses 

(c) livestock    (d) business interruption 

 

11. Insurance cover can usually be purchased to protect against … 

(a) an investment loss on the stock market 

(b) dishonesty of an employee  (c) failure of a business 

(d) war damage to a domestic property 

 

12. In classification of risks, … risk is the name given to a risk where the causes of events 

are linked to factors that are due to the society we are in. 

(a) dynamic  (b) particular (c) speculative  (d) fundamental  

 



13.  The right of the insurer to step in place of the insured for the purpose of recovering 

damages is called … 

(a) representation      (b) indemnity (c) subrogation (d)  contribution  

 

14. … is not a feature of insurable interest.  

(a) Loss suffered    (b) Subject matter   

(c) Legal relationship   (d) Financial value 

 

15. A residential building built beside a petrol filing station is described as a … 

(a) risk  (b) hazard   (c) peril  (d) liability  

 

16. A method of providing indemnity in the event of loss is … 

(a) cash payment    (b) professional advice 

(c) resolution of dispute   (d) resolution of policy 

 

17.  A provision in a policy that exempts an insurer from liability if the loss is less than a 

certain amount is called a/an … 

(a) excess  (b) transfer (c) lay days (d) franchise  

 

18.  A type of reinsurance where cession and acceptance are obligatory is … 

(a) treaty  (b) captive  (c) facultative  (d) retrocession  

 

19.  Renewal notice is used by insurers to remind the insured of the … of cover. 

(a)  reduction (b) continuation (c) expiration  (d) increase  

 

20. The professional services required for effective claims administration by insurers would 

be provided by … 

(a) loss assessors        (b) risk managers         

(c) loss adjusters    (d) claims consultants 

 

21. Effective supervision and licensing of insurance firms in Nigeria is the function of … 

(a) National Insurance Commission  

(b) Institute of Loss Adjusters of Nigeria 

(c) Chartered Insurance Institute of Nigeria 

(d) Nigerian Council of Registered Insurance Brokers 

 

22. A small fixed sum retained by the insured in the form of a claim is … 

(a) slip  (b) severity (c) excess  (d) frequency  

 

23.  The principle of utmost good faith apply in a contract of insurance to the  … 

(a) proposer only    (b) insurer only 

(c) insurer and proposer   (d) third party and insured 

 

24. Insurer A and B cover a risk at the ratio of 2:5 for the sum insured of N1,800.00. How 

much would insurer A get from the risk? 

(a) N1,285.00 (b) N720.00 (c) N514.00 (d)  N180.00 

 

25. Insurance against risk is possible because of the law of … 

(a) large numbers    (b) few numbers 

(c) inverse proportion   (d) diminishing returns 



26. … is a component of premium in insurance.  

(a) Margin  (b) Reserve (c) Funds   (d) Capital 

 

27. … will not give cause for subrogation right.  

(a) Benefit  (b) Contract (c) Statute  (d) Salvage  

 

28. The person that transfers risks to the insurance company is called a/an … 

(a) broker  (b) insured  (c) underwriter (d) loss adjuster 

 

29. … is not a function of an insurance underwriter.  

(a) Determining rates and coverage for the risk 

(b) Deciding whether to take the risk 

(c) Looking for an insurer to take the risk 

(d) Deciding whether to reject the risk 

 

30. The term used for the process of assessing risks in insurance and classifying them 

according to their degree of insurability so that the appropriate rate may be assigned is 

… 

(a) inspecting (b) underwriting    (c) surveying (d) evaluating  

 

31. The person employed by the insurance company to assess a proposed risk is … 

(a) a marketer (b) an agent (c) an underwriter  (d) a broker 

 

32.  A … will hold itself as an expert in handling insurance claims.  

(a) loss adjuster     (b) claims staff  

(c) loss assessor    (d)   none of the above 

 

33.  … is not a duty of a loss adjuster.  

(a) The investigation of circumstances surrounding a claim 

(b) Negotiation of amounts claimed 

(c) Making a recommendation for settlement to the insurer 

(d) Help insurers to get new business 

 

34.  The identification, analysis and economic control of risk is called … 

(a) underwriting (b) insurance   (c)    loss adjusting    (d) risk management 

 

35.  … is not a buyer of insurance.  

(a) Private individuals   (b) Public bodies 

(c) Association and clubs   (d) None of the above 

 

36.  An example of an insurance market is … 

(a) mutual company   (b) proprietary company 

(c) captive company   (d) Lloyd’s  

 

37.  A company that sells motor insurance and life insurance products is a … company.  

(a) specialist (b) composite (c) mutual  (d) captive 

 

38.  As well as placing the risk, many independent intermediaries will be involved in some 

or all of the following activities except … 

(a) risk management   (b) claim payment  



(c) risk underwriting   (d) negotiating renewal 

 

39. … is not a purpose of reinsurance.  

(a) Smoothing peaks and troughs in the claims experience 

(b) Protecting the portfolio 

(c) Providing improved customer service 

(d) Getting new businesses for the insurer 

 

40.  … is the term used when an insurer allows another organisation to carry out one of its  

Functions.  

(a) Marketing (b) Underwriting      (c) Superintending    (d) Outsourcing 

 

41. … is  not an element of a contract.  

(a) Trust  (b) Offer     (c) Consensus ad idem (d) Certainty of terms 

 

42. “Genuine meeting of minds” is … 

(a) consideration     (b) mens re  

(c) consensus ad idem   (d)   fortuitous  

 

43. In which of these cases did the defendant offered to sell his farm for £1,000.00 which 

was turned down for £950.00.  

(a) Hyde v. Wrench (1840)      (b)    Household Fire Insurance Co. v. Grant (1879) 

(c) Currie v. Misa (1875)   (d) Carter v. Boehm (1766) 

 

44. Which of these is not a method for creating an agent/principal relationship? 

(a) Consent (b) Necessity (c) Ratification (d) Negotiation  

 

45. An insurance broker recommends and arranges an insurance policy for the client and 

collects the premium for the insurer. The broker subsequently advises the client on how 

to make a claim. At what point in this scenario is the insurer the broker’s principal? 

(a) At the point of recommendation of the policy 

(b) At the point of arrangement of the policy 

(c) At the point of collection of premium 

(d) At the point of advising of the claim 

 

46. The duty of the principal to the agent is … 

(a) accountability     (b) good faith (c) obedience (d) remuneration 

 

47.  … is an employer of loss adjuster.  

(a) insurer  (b) broker  (c) insured  (d) agent  

 

48.  … is the document that form the basis of a contract in insurance business.  

(a) Policy document   (b) Proposal form 

(c) Claim form    (d) Discharge form 

 

49. … activity is not involved in claims management.  

(a) Proof of loss    (b) Particulars of loss 

(c) Premium calculation   (d) Primary investigation 

 

50. … is a factor that limits indemnity in an insurance contract.  



(a) Cession    (b) Reinsurance  

(c) Excess     (d) Co-insurance 

 

51. The event that gives rise to a loss in an insurance contract is called … 

(a) chance  (b) hazard  (c) peril  (d) loss 
 

52.  … is the name of the document used to alter the content(s) of a policy document.  

(a)  Endowment (b) Franchise (c) Certificate (d)  Endorsement 

 

53. … is a special peril in insurance contracts.  

(a) Lightning    (b) Explosion  

(c) Landslip    (d) None of the above 

 

54.  Peril of nature will not include … 

(a) escape of water  (b) flood    (c) earthquake (d)

 ground heave 
 

55. The cause of loss is known as … 

(a) risk  (b) hazard  (c) peril     (d) none of the above 
 

56.  The document used by insurers to gather information about the risk to be insured is … 

(a) claim form    (b) proposal form   

(c) policy document   (d)  endorsement  
 

57.  Other ways of obtaining material information is through all, except … 

(a) endorsement    (b) surveys  

(c) supplementary questionnaires  (d) slip  
 

58. The regulator of the insurance market in Nigeria is … 

(a) NIA  (b) FSA  (c) NAICOM  (d)  CBN 
 

59. The case law on the duty of disclosure is … 

(a) Carter v. Boehm (1766)   (b) Hyde v. Wrench (1840) 

(c) Household Fire Insurance Co. v. Grant (1879)  

(d)      Currie v. Misa (1875) 
 

60. Those facts an insurer would regard as likely to influence the acceptance and 

assessment of the proposal are called … 

(a) moral hazards    (b) material facts 

(c) disclosed facts    (d) misrepresentations 

 

SECTION B – ATTEMPT ALL QUESTIONS (Questions from 61 to 85)  
Answer True (T) or False (F).   
61. The risk underwriter is an expert in processing claims from start to finish. 

62. The starting point for the measurements of indemnity depends on whether there is a ready 

second-hand market for the item. 

63. Agreed value or valued policies are not use in marine insurance. 

64. Special condition of average is used in motor insurance. 

65. Contribution is applicable in personal accident insurance. 

66. Contribution arises when there is more than one policy in force. 

67. All risk and travel insurance policy are example of double insurance. 



68. North British and Mercantile v. Liverpool and London and Globe (1877) is a case about 

common peril. 

69. Subrogation is the right of one person to stand in the place of another and avail himself 

of all the rights and remedies of that other, whether already enforced or not. 

70. Subrogation right does not arise out of tort. 

71. That which is insured is called the subject matter of insurance. 

72. There are circumstances in which insurers agree to waive their rights of subrogation. 

73. Professional indemnity insurance is compulsory for insurance brokers in Nigeria. 

74. The Regulator of insurance business in Nigeria is the Central Bank of Nigeria.  

75. A solvency margin is the amount by which assets must exceed liabilities.  

76. A solvency margin is the amount by which assets must exceed liabilities.  

77. The CIIN issues a code of practice to insurance practitioners in Nigeria.  

78. The attitude of each person to risk is the same. 

79. In pure risk, there is an element of profit.  

80.  Whereas fortuitous loss, insurable interest and not being against public interest are 

absolute requirements, the concept of homogeneous exposures is an ideal. 

81. The concept of uncertainty implies there is no doubt about the future.  

82. A benefit of insurance is that the nation benefits from so-called invisible exports.  

83. The term self-insurance means that the individual has decided to use insurance as the risk 

transfer mechanism.  

84 Marine insurance relates to three areas of risk, namely hull, cargo and freight. 

85. Insurance brokers buy protection against their risks from reinsurers.  

 

SECTION C – ATTEMPT ALL QUESTIONS (Questions 86 – 100) 

Read the cases below carefully and answer the questions which follow.  
 

A secondary school in Lagos has requested that Mr. Ademosun, the Chairman of CIIN Lagos 

Branch to give the students a talk on the introductory aspect of insurance as part of their insurance 

week. The students want to know the differences between risks, perils, hazards, loss, among 

others. 
 

86. The cause of loss is … 

(a) uncertainty (b) certainty (c) perils  (d) hazard 
 

87. … diminishes the value of an item in an insurance contract.  

(a) Risk   (b) Uncertainty (c) Perils  (d) Loss 
 

88. The factor that would influence the severity of an outcome is the … 

(a) uncertainty (b) certainty (c) peril  (d) hazard 

 

89. The attitude of Mr. Ademosun when proposing a risk is … 

(a) uncertainty (b) certainty (c) peril  (d) hazard 

 

90. The likelihood that a property belonging to Mr. Ademosun will suffer a loss is … 

(a) uncertainty (b) certainty (c) peril  (d) hazard 

 

Eagle Homes Limited, a firm of estate developers, has properties across the country. The 

organisation suffered a loss that caused total damage to one of their buildings, partial damage to 

a car and another building suffered glass damage. The organisation has made claim to you which 

has been ascertained to be genuine. 
 

91. The method of providing indemnity to the building that was a total loss is … 



(a) restoration    (b) reinstatement   

(c) replacement    (d) repair 

 

92. The method of providing indemnity for the building which was partially damaged is … 

(a) restoration    (b) reinstatement   

(c) replacement    (d) repair 

 

93. The method of providing indemnity for the damaged glass is … 

(a) restoration    (b) reinstatement   

(c) replacement    (d) repair 

 

94. Supposing the jewelry of the administration manager was stolen, the most common 

method of providing indemnity is … 

(a) restoration    (b) reinstatement   

(c) replacement    (d) repair 

 

95. The most common way of providing indemnity for a loss is … 

(a) cash payment    (b) excess and deductible 

(c) restoration    (d) reinstatement 

  

Bisi Loye insured his car with Abel Insurance Company in Lagos, Nigeria. Six months later the 

car was reported involved in an accident where the driver hit another car on the road. The damage 

to Bisi’s car was N40,000.00 while that for the other car was N20,000.00.  
 

96. The expert that the insurer would use to estimate the loss is a… 

(a) loss adjuster (b) loss assessor (c) motor engineer    (d) risk surveyor 
 

97. Which of these types of cover would pay for both losses? 

(a) Act only Cover   (b) Third Party Cover 

(c) Third Party, Fire and Theft Cover (d) Comprehensive Cover  
 

98. The document to report the loss is called a … 

(a) proposal form    (b) policy form   

(c) claims form    (d) renewal notice 
 

99. The total liability for the insurer under third party liability cover on the claim is … 

(a) N10,000.00 (b) N20,000.00 (c) N40,000.00 (d) N60,000.00 

 

100. The total liability for the insurer under comprehensive policy liability on the claim is … 

(a) N10,000.00 (b) N20,000.00 (c) N40,000.00 (d)  N60,000.00 
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 – 60) 

1. Under a third party only motorcycle policy, what cover is provided as a standard cover? 

(a) Damage to clothing and personal effects (b) Emergency treatment fees 

(c) Medical expenses    (d) Personal accident benefits 

 

2. “Brown Card” is used in … Africa.  

(a) East   (b) West   (c) Central  (d) Southern  

 

3. Which of these forms the largest group of commercial vehicles? 

(a) Goods Carrying vehicles  (b) Passengers Carrying Vehicles  

(c) Agricultural and Forestry Vehicles (d) Vehicles of Special Construction 

 

4. Goods being carried by vehicles will covered by … insurance.  

(a) commercial vehicle     (b) motor trade  (c) goods-in-transit    (d) private car 

 

5. No Claim Discount is found in which of these classes of insurance? 

(a) Road Traffic Act   (b) Third Party, Fire and Theft 

(c) Third Party, Fire and Theft   (d) Comprehensive  

  

6. The policy that will pay for the cost of treating a sick person is … insurance.  

(a) sickness    (b) medical expense     (c) theft     (d) fidelity guarantee 

 

7. The standard fire policy will cover … 

(a) tempest (b) storm  (c) lightning (d) impact 

 

8. “A person is guilty of theft if(s)he dishonestly appropriate property belonging to 

another with the intention of permanently depriving the other of it”. This is a definition 

of … 

(a) robbery  (b) stealing (c) burglary (d) theft 

 

9. Indemnity period is used in … insurance.  

(a)   motor  (b)    money   (c)   business interruption  (d)  public liability  

 

10. Which of these liability insurances will benefit an injured worker while carrying out an 

official assignment? 

(a) Employers’ Liability Insurance (b) Public Liability Insurance 

(c) Product Liability Insurance  (d) Professional Indemnity Insurance 

 

11. The expert that assess risks on behalf of an insurance company before cover is granted 

is called a … 

(a) broker   (b) agent  (c) loss assessor  (d) risk surveyor 

 

12. The factor that would influence either the frequency or severity of loss is called … 

(a) risk  (b) hazard  (c) peril  (d) uncertainty 

 

13. “Declaration” is found in which of the following documents? 

(a)   Endorsement (b)   Policy (c)    Proposal Form (d)   Renewal Notice 

 

14. The premium base is … 

(a) Rate   (b) Sum Insured  (c)  Mille     (d)   Percentage 



 

15.  Rate per mille means per … 

 (a)  10  (b)  100 (c) 1000  (d) 10000000 

 

16. Which of these is compulsory in motor insurance? 

(a) Third Party    (b) Third Party, Fire and Theft  

(c) Private Car    (d) Comprehensive 

 

17. Which of these is not a contract of indemnity? 

(a) Marine Insurance   (b) Personal Accident Insurance 

(c) Business Interruption Insurance (d) Fire Insurance 

 

18. Which of these countries will ECOWAS Brown card not be used? 

(a) Cameroun  (b) Cape Verde  (c) Cote d’Ivoire  (d) Guinea Bissau 

 

19. Which of these is an exclusion in Motor Third Party Insurance? 

(a) Cover for vehicles while on the road 

(b) A limit of N1,000,000.00 third party property damage 

(c) Damage to property owned or held in trust  

(d) Indemnity to anyone who is driving the vehicle on the insured’s order. 

 

20. The main rating factor for personal accident insurance is … 

(a) age  (b) occupation      (c)     location     (d) sum insured 

 

21. Which of these is true of an “All Risks” policy? 

(a) It covers all risks   

(b) It covers any process of heating, dyeing, alteration or repair 

(c) It covers personal possessions regularly taken outside the insured premises 

(d) It covers deeds, bonds and documents 

 

22. The legal expenses extensions will NOT cover … 

(a) property damage costs  (b) civil defence costs 

(c) employment disputes cost  (d) recovery cost 

 

23. “Aircraft” is an example of … 

(a) Miscellaneous Perils   (b) Perils of Nature 

(c) Social Perils    (d) Perils of a Chemical Nature 

 

24. In which of these is cover restricted to losses resulting from vehicles or animals owned  

or under the control of third parties?  

(a) Escape of Water  (b) Impact (c) Sprinkler Leakage      (d) Aircraft  

 

25. The trade association for those independent professionals that assist insurers in claims 

handling is … 

(a) PILA  (b) ILAN  (c) CIIN  (d) NAICOM 

 

26. An example of good physical hazard is … 

(a) building of wooden construction (b) thatched roofs 

(c) storage of dangerous chemicals (d) concrete fire-resistant walls 

 



27. … hazards relate to the human aspects that may influence the outcome of the risk. 

(a)  Good physical      (b)  Poor physical         (c)    Physical      (d)    Moral  

 

28.  The regulator of insurance business in Nigeria is … 

(a) NIA  (b) NAICOM (c) CBN  (d) NDIC 

 

29.  Adjustable premium is used in … insurance.  

(a) fire  (b) theft   (c) motor       (d)     employers liability  

 

30. Certificate of insurance will NOT contain … 

(a) address of the insured   (b) registration number of the vehicle 

(c) expiry date     (d) date of commencement of cover 

 

31.  … is the movement of the land on which the premises stand due to movements, falls or 

changes in the underground workings, such as coal mines. 

(a)   Subsidence (b)   Earthquake (c)   Ground Heave   (d)   Landslip 

 

32. Which of these is NOT a common extension in theft insurance that are automatically 

included in the policy? 

(a) Breakage of Glass   (b) Collusion 

(c) Replacement of Locks  (d) Index Linking 

 

33. The term “turnover” is used in … insurance.  

(a) Fidelity Guarantee    (b) Employers’ Liability 

(c) Professional Indemnity   (d) Business Interruption  

 

34. The contribution of an employer under the Employee Compensation Act 2010 is … 

(a) 1%  (b ) 2.5%  (c) 5%  (d) 10% 

 

35. The umbrella body of insurers in Nigeria is … 

(a) NCRIB (b) ARIAN (c) NIA  (d) NAICOM 

 

36.  The personal accident will cover the insured for … per day.  

(a) 8 hours     (b) 24 hours  

(c)  only while at work   (d) only during sporting events 

 

37. How many weeks benefit will the sickness cover pay if the insured is temporarily and 

totally disabled from engaging in their usual occupation? 

(a) 24 weeks (b) 72 weeks (c)  104 weeks (d) 150 weeks 

 

38.  Which of these is covered in a personal accident insurance policy?  

(a) Insured being under the influence of alcohol 

(b) Self-inflicted injury        (c) Physical defects existing before an accident 

(d) Death as a result of an accident 

 

39. A policy sold to small businesses which covers fire, perils, liability and other is called a 

… 

(a) household policy   (b) package policy 

(c) building insurance   (d) content insurance 

 



40. Which of these is not a section of a household insurance? 

(a) Building Insurance   (b) Deductible Insurance 

(c) Content Insurance   (d) Building and Contents Insurance 

 

41. The form of special perils that arise where an aircraft crashed landed on a building is 

referred to as …. 

(a) mechanical breakdown  (b) impact damage 

(c) subsidence    (d) explosion 

 

42. Typical exclusions in a household policy will include all, except … 

(a) beddings    (b) property more specially insured 

(c) medals and coins   (d) motor vehicles 

 

43. Bicycles are usually covered by … 

(a) Third party only   (b) Comprehensive  

(c) Road Traffic Act only   (d) “All Risks” policy 

 

44.  Which of these will cover failure of public transport to deliver the insured to the 

departure point, on either the outward or return journey in time to take the trip booked? 

(a) Travel Interruption   (b) Travel Delay 

(c) Failure of Tour Organisers  (d) Lack of Services or Amenities 

 

45.  Which of these is peril of chemical type? 

(a) Civil Commotion      (b) Subterranean Fire  (c) Impact  (d)  Explosion 

 

46. If an excess of N250.00 applies to a policy, how much will the insurer pay for a loss of 

N230.00? 

(a) Nil  (b) N 20.00 (c) N230.00 (d)  N250.00 

 

47. Theft involving entry to or exit from the premises by forcible and violent means, means 

that the policy will cover loss caused by entry … 

(a) a key     (b) a trick   

(c) hiding in the premises   (d) breaking into the premise 

 

48. Under a typical legal expenses policy, what limit of cover, if any, usually applies within 

the period of covers? 

(a) Cover is usually unlimited   

(b) Overall cover is usually limited but this is no further limit per claim 

(c) Overall cover is usually unlimited but there is a limit per claim 

(d) Overall cover is usually limited and there is also a limit per claim 

 

49. … is the total income arising from the activities of the business. 

(a) Net profit (b) Gross profit (c) Turnover (d) Purchases 

 

50. The liability policy whose benefits will be paid to third parties is … 

(a) Employers’ Liability Insurance (b) Public Liability Insurance 

(c) Directors’ and Officers’ Insurance (d) Professional Indemnity insurance 

 

51. A butcher wishes to arrange protection against claims made by customers who become 

ill as a result of eating their meat pie. Which insurance policy will meet their needs? 



(a) Employers’ Liability Insurance (b) Public Liability Insurance 

(c) Directors’ and Officers’ Insurance (d) Professional Indemnity insurance 

 

52. Which of these is regarded as the eyes and ears of the underwriter? 

(a) Broker  (b)   Assessor  (c)   Risk Surveyor  (d) The Insured 

 

53. Flat premiums are used in … insurance.  

(a) money   (b) marine  (c) fire   (d) motor  

 

54. In relation to an employer’s liability insurance policy, what is likely to form the premium 

base, to be used to form the premium base, to be used to establish the premium to be 

paid?  

(a) Sales Receipts (b) Sum Insured (c)   Total Salary Bill (d)    Turnover 

 

55. … is the document that is used to inform the insured of the expiry date of his policy.  

(a) Cover note      (b)   Certificate (c)   Policy document   (d)   Renewal notice 

 

56. Which of these is not found in the policy? 

(a) Recital Clause  (b)    Signature       (c)     Declaration      (d) Heading 

 

57. Which of these is not found in the policy schedule? 

(a) Insured’s address   (b) Policy period 

(c) Declaration    (d) Premium 

 

58. … is the right of the insurer to take over the insured’s right, following payment of a  

claim, in order to recover the payment from the third party. 

(a) Contribution (b) Subrogation (c) Arbitration (d) Cancellation 

 

59. … is essentially a promise made by the insured relating to facts or performance 

concerning the risk. 

(a) Warranty (b) Representation   (c) Disclosures (d) Peril  

 

60. John Adamu has insured an article for N10,000.00. The article suffers N5,000.00 worth 

of damage. How much will the insurer pay if the policy has a franchise of N3,000.00? 

(a) N2,000.00 (b) N3,000.00 (c) N5,000.00 (d) N10,000.00 

 

SECTION B – ATTEMPT ALL QUESTIONS (Questions from 61 to 85)  

Answer True (T) or False (F).   

61. Brown Card Scheme can be used as a third-party insurance in Nigeria locally.  

62. Money insurance is provided on an ‘all-risks’ basis. 

63. Professional indemnity insurance protects a professional person against claims alleging 

that injury or loss has resulted from their actions.  

64. Standard fire policy covers losses caused by riot and civil commotion.  

65. KYC information is required for all classes of insurance.  

66. A franchise is a fixed amount or period that acts as a threshold to determine whether any 

claim is payable or not.  

67. The duties of the insured following a loss can be divided into implied and express duties.  

68. Average is a penalty for underinsurance. 

69. Subrogation gives the insurer the right to pursue recovery from a third party. 

70. Third party fire and theft is the minimum level of cover in motor insurance. 



71. In specified motor cycle insurance, the rider is insured for a particular motor cycle.  

72. Personal accident insurance is a contract of indemnity. 

73. On diagnosis of a critical condition, the benefits from a medical expense policy become 

payable. 

74. Theft or attempted theft under the building section of household insurance is usually 

excluded whilst the premises are left unoccupied for more than 30 day or 60 days.  

75. An “all risks’ policy covers every risk. 

76. A standard fire policy will cover lightning. 

77. Impact cover is restricted to losses resulting from vehicles or animals owned or under the 

control of third parties. 

78. Theft involving the use of key to open the insured premises is covered. 

79. The definition of money in money insurance is same for all insurers.  

80. Unlike fire and theft policies, a money policy is not subjected to average.  

81. Gross profit is the total income arising from the activities of the business.  

82. Territorial limits apply to employers’ liability insurance. 

83. Many fleet rated motor risks are placed with an insurer on the historical claims 

experience. 

84. Physical hazards are the dangers that the insured see in the general environment. 

85. Adjustable premium is used in employers’ liability insurance.  

 

SECTION C – ATTEMPT ALL QUESTIONS (Questions 86 – 100) 

Read the cases below carefully and answer the questions which follow.  

 

Segun Chinedu is a bank executive who have worked for two years without a break decided to 

go for holidays in The Gambia. He had contacted a tourist company for assistance and he was 

informed that it would cost him the sum of D50,000 for the holiday and he was to deposit with 

the tourist company the sum of D20,000. Two weeks to the holiday, he had a fatal accident that 

made the holiday to be cancelled. He also incurred medical expenses for the treatment of his 

injury at a specialist hospital in Lagos. 

 

86. Which insurance policy would have covered his stay in The Gambia? 

(a) Household Insurance   (b) Personal Accident Insurance 

(c) Travel Insurance    (d) Holiday Home Insurance 
 

87. Which policy would have paid for the deposit amount for the holiday back to him? 

(a) Curtailment    (b) Baggage, Personal Effect and Money 

(c) Personal Liability   (d) Cancellation 
 

88. The policy that would pay for his medical expenses following the accident is … 

(a) household insurance   (b) personal accident insurance 

(c) travel insurance   (d) holiday home insurance 

 

89. Which policy would pay to him had it been he had actual travelled to The Gambia and 

there was a fire incident in his Nigeria house? 

(a) Household Insurance   (b) Personal Accident Insurance 

(c) Travel Insurance    (d) Holiday Home Insurance 

 

90. Supposing there was fire in his holiday resort in Kenya, which of these policies would 

pay for such loss? 

(a) Household Insurance   (b) Personal Accident Insurance 

(c) Travel Insurance    (d) Holiday Home Insurance 



 

All-Seasons Stores, a supermarket, has approached you for insurance cover for their stock 

which fluctuates as a result of selling and buying of new commodities. The sum insured 

declared at inception of the contract is the sum of N5,000,000.00, while at expiry it was found 

to be N6,000,000.00. A rate of 0.25% was given to All season Stores for the cover at inception.  

 

91. What is the best form of cover for this type of business? 

(a) Fire Insurance    (b) Theft Insurance 

(c) Stock Declaration   (d) Marine Insurance 

 

92. The premium payable at the inception of the policy was …. 

(a) N12,500.00 (b) N15,000.00 (c) N15,500.00 (d) N17,500.00 

 

93. The premium payable at expiry of the policy will be … 

(a) N12,500.00 (b) N15,000.00 (c) N15,500.00 (d) N17,500.00 

 

94.  What form of premium is adopted in the above case? 

(a) Level Premium   (b) Flat Premium 

(c) Ordinary Premium   (d) Adjustable Premium 

 

95. 0.25% is referred to as the … 

(a) excess  (b) premium base      (c) premium rate  (d)   franchise 

 

Mazi Okechukwu Nwanze reported a fire outbreak to his insured building caused by a collision 

between a trailer and a petrol tanker at Arira Road in Abia State. Apart from the damage to his 

building the collision caused a gas cylinder to explode, thereby causing injury to a passerby. 

 

96. What is the principle of insurance traceable to the above case? 

(a) Proximate Cause    (b) Remote Cause   

(c) Indemnity     (d) Contribution 

 

97. What is the cause of the gas explosion? 

(a) The Gas Cylinder    (b) The Fire 

(c) The Collision     (d) The Careless People 

 

98. What policy should be finally liable for the whole loss? 

(a) Motor Insurance    (b) Fire Insurance 

(c) Fidelity Guarantee    (d) Money Insurance 

 

99. Mazi Nwanze should claim for his loss from … insurance.  

(a) motor   (b) fire   (c) fidelity guarantee  (d)  money  

 

100. Which insurance principle is not applicable to the above insurance? 

(a) Indemnity (b) Contribution     (c) Subrogation      (d)   All of the above 
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appropriate box.  
 
 
 
 
 



SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 – 60) 
1.  … is a non-traditional life insurance product. 

(a)  Universal Life Assurance   (b)  Term Assurance 

(c)  Endowment Assurance   (d)  Whole Life Assurance 

 

2.  When a policy lapses, it means that the policyholder has … the premium.  

(a)  discounted  (b)  discovered (c)  discontinued  (d)  denied 

 

3.  The premium paid for whole life assurance is … the premium paid for term assurance. 

(a)  lower than   (b)  higher than (c)  equal to     (d)  same as 

 

4.  Using technical terms, the … is the person who effects the policy. 

(a)  assured  (b)  man  (c)  woman  (d)  life assured  

 

5.  Term assurance provides cover against … within … period.  

(a)  death / a specified    (b)  accident / an unlimited 

(c)  accident / a specified    (d)  death / an unlimited 

 

6.  Investment linked policies are types of … 

(a)  whole life and term assurance  (b)  endowment and term assurance 

(c)  whole life and endowment   (d)  term assurance and joint life 

 

7.  In an endowment policy, the sum assured is paid … 

(a)  on maturity only  (b) on death or surrender, whichever comes last 

(c)  on maturity or death whichever is earlier   (d)  on surrender only 

 

8.  The waiver of premium option applies when the life assured … 

(a)  retires      (b)  is ill or injured   

(c)  forgets to pay the premium   (d)  refuses to pay the premium 

 

9.  In a policy with double accident benefit, the death sum assured payable is --- 

(a)  the ordinary sum assured   (b)  twice the sum assured 

(c)  thrice the sum assured   (d)  zero sum assured 

 

10.  Partnership Share Protection cover is for … 

(a)  partners to share the death benefit of one of the partners 

(b)  the family to receive a cash sum of the deceased partner’s investment in the 

business  (c) the family to join the deceased’s business partners 

 (d)  the partners to sell off the business when not profitable 

 

11.  Under the Pension Reform Act 2004 (Section 9 (3)), an employer is required to 

maintain life insurance policy in favour of an employee for a … the annual total 

emolument. 

(a)  minimum of five times   (b)  maximum of three times 

(c)  minimum of three times   (d)  maximum of four times 

 

12.  Under the Pension Reform Act 2014, … shall fully bear the cost of the premium. 

(a)  the employer  (b)  the employee (c)  both the employer and employee 

(d)  neither the employer nor the employee 

 



13.  The free limit cover is the sum assured above which the insured will be required to 

…. 

(a)  undergo medical examination  (b)  complete a health questionnaire 

(c)  seek medical advice    (d)  complete a lifestyle questionnaire 

 

14.  Underwriting in insurance involves assessing the … 

(a)  proposal form  (b)  insurer  (c)  family   (d)  policy 

 

15.  The proposal form covers the following except … 

(a)  the identity of the life to be assured 

(b)  the bank details of the life to be assured 

(c)  details of the contract required 

(d)  details of all the lives stated on the form  

 

16.  The declaration in the proposal form must be signed by the … 

(a)  proposer       (b)      agent    (c)  insurance broker   (d)  financial planner 

 

17.  The retention limit is the … that a life insurer is prepared to risk. 

(a)  maximum loss  (b) minimum loss (c) average loss  (d) great loss 

 

18.  The Access to Medical Reports Act 1988 gives certain rights to the … 

(a)  insurer (b)  proposer (c)  insurer and proposer  (d)  family 

 

19.  Which of these medical factors will an underwriter not normally investigate? 

(a) Overweight (b) Eye Disease (c) Diabetes  (d) Fully Healed Broken Leg 

 

20.  Which of these occupations does not have an above average risk of a particular disease? 

(a)  Divers  (b)  Miners  (c)  Bankers  (d) Chemical Workers 

 

21.  Which of these policies addresses the drawbacks of the traditional endowment, namely 

its fixed maturity date and low surrender value? 

(a)  Low-Costs Endowments   (b)  Flexidowments 

(c)  Low-Start Endowment   (d)  Unit-Linked Endowments 

 

22.  Which of these is not truly a life policy since it provides no life cover? 

(a)  Pure Endowments    (b)  Universal Life Policies 

(c)  Contingent Policies    (d)  Flexidowments 

 

23.  Which of these policies are a development of regular premium unit-linked whole life 

policies? 

(a)  Pure Endowments    (b)  Universal Life Policies 

(c)  Contingent Policies    (d)  Flexidowments 

 

24.  … are riders to the basic life policies. 

(a)  Bolt-On Policies    (b)  Partnership Group Life Assurance 

(c)  Income Protection Insurance   (d)  Proportionate Benefit 

 

25.  Which of these will provide that if the assured dies as a result of an accident (as 

defined in the policy), an additional payment will be made equal to the death sum  

assured. 



(a)  Total and Permanent Disability (TPD) Benefit 

(b)  Waiver of Premium Offer   (c)  Double Accident Benefits 

(d)  Contingent Policies 

 

26.  Which of these is a type of assurance where payment is only made on the death of  

the life assurance if a certain other condition is also fulfilled? 

(a)  Pure Endowments    (b)  Universal Life Policies 

(c)  Contingent Policies    (d)  Flexidowments 

 

27.  Which if these will pay the sum assured on the diagnosis of a critical illness as well 

as death? 

(a)  Increasing Cover Option   (b)  Critical Illness Cover 

(c)  Terminal Illness Cover   (d)  Waiver of Premium Option 

 

28.  The policy that provides that sum assured is payable if the life assured is diagnosed 

as suffering from an advanced or rapidly progressing incurable disabling terminal 

illness where the life expectancy will be less than twelve months is … 

(a)  Increasing Cover Option   (b)  Critical Illness Cover 

(c)  Terminal Illness Cover   (d)  Waiver of Premium Option 

 

29.  … is the name given to the procedure of assessing a proposal and deciding whether 

to accept the risk. 

(a) Premium Selection  (b) Rating (c) Underwriting        (d)  Assessment 

 

30.  The basis of the life assurance contract is … 

(a)  policy  (b)  endorsement (c)  renewal notice (d)  proposal form 

 

31.  Life insurers place limits on the maximum losses they are prepared to risk, over this 

limit, the office must then spread the risk by funding other insurers to accept the excess. 

The process is known as … 

(a)  underwriting    (b) reassurance (c) catastrophic protection  (d) rating 

 

32.  In medical underwriting, the underwriter can use … 

(a)  general practitioner’s report only   (b)  medical examination only 

(c)  (a) and (b) only     (d)  neither (a) not (b) 

 

33.  Which of these medical conditions need not be investigated in medical underwriting? 

(a) Overweight  (b) Malaria (c) Eye Diseases  (d) Glandular Disorders 

 

34.  Which of these is not part of occupations with above average risk of death by 

accident? 

(a)  Scaffolders     (b)  Trawlerman  

(c)      Professional Boxers    (d)    Publicans 
 

35.  Which of these is not part of occupations with above average risk of a particular disease? 

(a)  Miners       (b)      Steel Erectors (c) Chemical Workers     (d)  Asbestos 
 

36.  Which of these is not a method for handling substandard risks? 

(a)  Decreasing the Extra Risk    

(b) Accepting Ordinary Rates for Limited Types of Policy 

(c)  Applying Exclusion     (d) Use of Monetary Extra 



37.  … is an extra premium expressed in terms of a specific amount per N1,000.00 sum 

assured. 

(a)  Monetary Extra    (b)  Rating-Up        

(c)  Postponement     (d)  Declinature 

 

38.  In which of the following is it assumed that the life of a x-years-old-man with chronic 

bronchitis might be rated ‘plus 5’ and be charged the normal premium rate for a 50-year-

old man? 

(a)  Monetary Extra    (b)  Rating-Up        

(c)  Postponement     (d)  Declinature 

 

39.  … method can be used where the initial risk is such as to render the life virtually 

uninsurable, but, where once the danger period is survived, prospects will improve 

substantially, so that acceptance at ordinary rates might be possible. 

(a)  Monetary Extra    (b)  Rating-Up        

(c)  Postponement     (d)  Declinature 

 

40.  The earliest form of premium calculation was called … premium.  

(a)  rating   (b)  equality  (c)  level   (d)  natural  

 

41.  … states the benefit that will be payable by the life office, subject to the payment 

of premium, proof of claim and proof of ownership. 

(a)   Heading   (b) Preamble   (c)    Operative Clause       (d)  Declaration 

 

42.  … identifies the type of policy, name of assurer and policy number. 

(a)   Heading   (b) Preamble   (c)    Operative Clause       (d)  Declaration 

 

43. … states the purpose of the document which will need to be kept in a safe place for 

use in the event of a claim. 

(a)   Heading  (b) Preamble  (c)    Operative Clause    (d) Declaration 

 

44. Which document is used to set out the terms of alterations to existing policies?  

(a)    Assignment (b) Endorsement  (c) Renewal Notice  (d)    Proposal Form 

 

45. The process of reviving a policy that has lapsed due to non-payment of premium is 

called … 

(a)  Arrears Procedure (b) Renewal     (c) Reinstatement  (d) Endorsement 

 

46.  When the payment of premium is stopped but the cover continues at   an 

appropriately reduced rate. This is called … 

(a)  surrender value    (b)  non-forfeiture clause  

(c)  paid-up policy    (d)  waiver of premium policy 

 

47.  … is a transfer of ownership of a life contract from one person to another. 

(a)  Endorsement  (b)  Assignment  (c)  Renewal  (d)  Paid-Up 

 

48.  In which of these cases did a father hand a policy to his son, requesting him to 

erect a tombstone out of the policy money on death? 

(a)  Thomas v Harris (1947)   (b)  King Sewell v King (1879   

(c)   Williams, Williams v Ball (1917)  (d)  None of the above 



49.  In which of the cases did the assured write to his trustee that he undertook to execute an 

assignment and that he would be bound by this assignment? 

(a)  Thomas v Harris (1947)   (b)  King Sewell v King (1879)   

(c)  Williams, Williams v Ball (1917)  (d) None of the above 

 

50. … is a type of assignment used mainly in connection with a loan. 

(a)  Collateral  (b)  Annuity  (c)  Endowment  (d)  Mortgage 

 

51. Which of these is not a right of a mortgage? 

(a)  Disclosure (b)  Repayment  (c)  Power of sale   (d)   Receive 

 

52.  In which of these policies will maturity benefit be paid? 

(a) Term Assurance   (b) Whole Life Assurance 

(c) Endowment Assurance  (d) Group Life Assurance 
 

53.  Death claim will not be allowed on which of these policies? 

(a) Term Assurance   (b) Flexidowment 

(c) Group Life Assurance   (d) Pure Endowment 

 

54. Which of these is not wholly under the purview of life assurance industry in Nigeria? 

(a) Individual Life Business  (b)  Investment Life Assurance Plans  

(c) Group Life and Pensions Business (d)   Annuity Business 

 

55.  The regulator of insurance in Nigeria is … 

(a) National Pension Commission    (b)     National Health Insurance Scheme 

(c) Nigerian Social Insurance Trust Fund      (d)     National Insurance Commission 
 

56. The abbreviation for the umbrella body of insurance companies in Nigeria is … 

(a) NIA  (b) NCRIB  (c) ILAN  (d)

 PRAN 

 

57. The standard minimum number of years for a policy to acquire surrender value is 

…  

(a) 1 year  (b) 2 years  (c) 4 years  (d) 5 years 
 

58. The maximum limit which a life office could hold for itself on any one life is 

called… 

(a) cession  (b) reassurance (c) retention (d) retrocession 
 

59. Which of these is a morbidity risk that can be reassured? 

(a) Term Assurance   (b) Flexidowment  

(c) Income Protection Insurance  (d) Whole Life Assurance 
 

60.  … is a type of treaty reassurance whereby the principal office reassurers a fixed 

percentage of every policy in a particular class of business. 

(a) Surplus Reassurance   (b)  Quota Share Reassurance 

(c)       Risk Premium Reassurance         (d)  Original Term Reassurance 

 

 
 
 
 



SECTION B – ATTEMPT ALL QUESTIONS (Questions from 61 to 85)  
Answer True (T) or False (F).   
61.  Annuity may be described as the opposite of a life assurance policy. 

62.  Mortality table is used to compute the sickness rate by the life insurance companies. 

63.  Double endowment is the same as double accident benefit. 

64.  The principle of utmost good faith is applicable to life assurance contracts. 

65.  Decreasing whole life assurance is a type of term assurance policy. 

66.  An endowment assurance policy combines both the life protection and investment 

purposes. 

67.  Proximate cause principle is applicable to life assurance policy. 

68.  Claims under life assurance may take the forms of maturity benefit, surrender value or 

death benefit. 

69.  Life assurance companies do not need reassurance cover. 

70.  Another name for life reassurance is a pooling arrangement. 

71.  Retrocession is common with life offices instead of reassurance. 

72.  Actuarial valuation is the same as actuarial investigation. 

73.  Two uses of life reassurance to the life offices are pooling protection and stabilisation 

of claims ratio. 

74.  An endowment assurance pays on either maturity or at the previous death of the life 

assured. 

75.  A pure endowment pays out the sum assured on the death of the life assured. 

76.  Life assured and the assured are the same person in all cases of life assurance contracts. 

77.  The practice of co-assurance is a standard practice in life assurance practice. 

78.  A whole life assurance policy pays out when the life assured dies within a specified 

period of time. 

79.  Key person assurance is a form of term assurance. 

80.  Twice the sum assured is payable under the double endowment benefit if death is by an 

accident. 

81.  Boxing is not seen as a potentially hazardous activity. 

82.  Where the extra risk is very heavy and there is little prospect of improvement later, 

the proposal may be outrightly declined by the insurer.  

83.  The premium calculated for mortality and interest factors is a net premium. 

84.  Premiums are often calculated on a yearly basis, although in practice, most premiums 

are paid monthly. 

85.  Heading in a policy document shows the individual details of the contract. 

 

 

 

 

 

 

 

 

 

 

 

 

 



SECTION C – ATTEMPT ALL QUESTIONS (Questions 86 – 100) 

Read the cases below carefully and answer the questions which follow.  
 

Samuel Akinade works with Steel Manufacturing Company in Ogbomoso and has approached 

an insurance agent to buy a life assurance policy. He has three children aged between six and 

twelve years and wants a life assurance policy that will be used in school fees payments. He 

selected the sum of N6million as the sum assured and was exempted from going for medical 

examination by the life office. He had also approached another insurer for another life assurance 

policy cover without disclosing the life assurance policy first cover. 

 

86.  The traditional form of life assurance that will help Akinade pay his children’s school 

fees is ... 

(a)  term assurance (b)  endowment (c)    whole life assurance   (d) annuity 

 

87.  The exemption from going to see a doctor for a medical examination in a life assurance 

proposal is called … underwriting.  

(a)  non-medical   (b)    medical     (c)    occupational  (d)    financial  

 

88.  The amount of cover where the proposal is exempted from medical examination is … 

(a)  free cover limit    (b)  underwriting limit 

(c)  paid-up limit     (d)  surrender value 

 

89.  The best cover for Samuel Akinade’s need is … 

(a)  Flexidowment    (b)  Annuity Certain 

(c)  Pure Endowment    (d)  Educational Endowment 

 

90.  The non-disclosure of the other policy is against the insurance principle of … 

(a)  insurable interest    (b)  contribution 

(c)  subrogation     (d)  utmost good faith. 

 

Lakewater Limited is a company that produces life jackets and has one hundred and sixty (160) 

workers working at different locations in the country. Although, the company had maintained 

good house-keeping in its risk management approach, there had been incidents of industrial 

accidents leading to losses of lives and injuries. The Board had directed Management of the 

company to put in place an insurance that will cover the risk. 

 

91.  What type of cover will protect the losses because of accidental injuries in the company? 

(a)  Group Life Assurance   (b)  Group Personal Accident Insurance 

(c)  Group Medical Insurance   (d)  Group Travel Insurance 

 

92.  Which of these policies will be required to meet the requirements of the Pension Reform 

Act 2014? 

(a)  Whole Life Assurance   (b)  Group Life Assurance 

(c)  Group Personal Accident   (d)  Employee Compensation Insurance 

 

93.  According to the Pension Reform Act 2014 in Nigeria, the minimum number of staff that 

the company should have to compulsorily buy life assurance for its employees is… 

(a)  3  (b)  10  (c)  14   (d)  15 

 

94.  The policy that the company should buy to protect its directors is a … policy.  



(a)  Group Life Assurance   (b)  Directors' Share Protection 

(c)  Group Income Protection Insurance  (d)  Group Credit Insurance 

 

95.  The company could buy life assurance on the lives of its employees because of the 

principle of … 

(a)  utmost good faith    (b)  insurable interest 

(c)  indemnity    (d)  proximate cause 

 

Alhaji Lawal lent the sum of N60,000.00 to Hajia Idayat for her to re-stock her provision stock. 

The loan was to be repaid over a period of two years in equal instalmental repayments. Alhaji 

Lawal has approached a life office for a life policy on the life of his debtor for the sum of 

N100,000.00. 

 

96.  The principle that allows the insurance on the life of debtors is … 

(a)  utmost good faith    (b)  proximate cause 

(c)  subrogation     (d)  insurable interest 

 

97.  Which of these is true? 

(a)  Hajia Idayat has insurable interest on the life of Alhaji Lawal 

(b)  Alhaji Lawal has insurable interest on the life of Hajia Idayat 

(c)  Both has insurable interest in each other’s life 

(d)  None of them has insurable interest in the other person’s life 

 

98.  The insurable amount in view of the above case is … 

(a)  N60,000.00  (b)  N100,000.00 (c)  N160,000.00    (d)  Unlimited 

 

99.  The best form of cover for the debt is … 

(a)  increasing term assurance  (b)  family income insurance 

(c)  decreasing term assurance  (d)  endorsement 

 

100.  On repayment of the debt, Alhaji Lawal can still insure the life of Hajia Idayat for 

the sum of …  

(a) N0.00  (b) N60,000.00 (c) N100,000.00  (d) N160,000.00 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Chief Examiner’s Comment 

Majority of the candidates that sat for the examination performed very well with a global pass 

rate of 68.57% which is an indication that the candidates prepared adequately for the 

examination. 
 

Comments on Overall Performance 

The overall performance of 68.57% is impressive, however, there is room for improvement. 
 

Suggestion(s) on Improvement(s) (if any) 

Candidates should ensure adequate preparation for the examination. 

 

 

 

 

 

 

 

 

 

F03 - LIFE ASSURANCE, ANNUITY AND PENSIONS ADMINISTRATION 

1 A 21 B 41 C 61 T 81 F 
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16 A 36 A 56 A 76 F 96 D 
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INSTRUCTIONS TO CANDIDATES 
 
READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS 
Section A: The questions 1 – 50 in this paper are numbered and four options follow each 
question. The options are labeled a,b,c,d. Only one of these options is correct. Select your answer 
for each question and indicate it on the answer form by filling in the appropriate box. For 

Example: One of the demerits of electronic communication bothers on its …  
(a) speed   (b) coverage  (c) security  (d) accessibility  
The correct option is (c). 
 

Section B:  
Questions 51 – 60 are to be answered by picking the correctly spelt word.  
For Example:   
(a) Folow  (b) Follow  (c) Foloow  (d) Followw 
The correct option is False (b).  
 

Section C   
Questions 61 – 70 are to be answered by picking the option that has the sentence which is 
correctly written.  For Example:  (a) See you soonestly   
(b) See you soonest than ever (c) See you sooner  (d) I hope to be with you soon 
The correct option is (d) 
 

Section D   
Questions 71 - 80 are to be answered by picking the option that has the sentence which is 
correctly punctuated. For Example:  (a) I hope to be with you soon,  
(b) I hope to be with you soon?  (c) I hope to be with you soon.  
(d) I hope to be with you soon;   The correct option is (c) 
 

Section E   
Questions 81 – 90 are to be answered by picking the option that correctly fills the blank spaces 
in each of the sentences.  
For Example:  The meeting is scheduled to start … 10.00a.m. prompt. 
(a) at   (b) in   (c) on   (d) for  
The correct option is (a) 
 

Section F 
Questions 91 – 100. This section contains one (1) case study followed by ten questions. The case 
study is not numbered and appear at the top of the page. Each of the ten questions following a 
case study is numbered. Four options follow each question. The options are labelled, a, b, c, d. 
Only one of these options is correct or best. Select your answer for each question and indicate it 
on the answer from by filling in the appropriate box.  



SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 – 50) 
 

1.  Principles of business communication include all but one of the following?  

(a)  Precision  (b)  Clarity  (c)  Length  (d)  Accuracy  

 

2.  … is a good example of internal downward communication.  

(a)  Communication from a junior officer to a management staff  

(b)  Communication among colleagues on the same level  

(c) Ccommunication from an organisation to the public  

(d) Communication from the departmental head to the unit head  

 

3.  One of the ways of tackling filters as a barrier to effective communication is by ---.  

(a)  giving the message in different ways   (b)  writing the message  

(c)  sending a reminder    (d)  engaging the services of a translator    

 

4.  Internal business communication refers to ---.  

(a)  the transmission of information between two friends in an organisation  

(b)  the transmission of information from a manager to another manager in an 

organisation  

(c)  the transmission of information between or among family members  

(d)  the transmission of official information between or among members of the same 

company or group of companies  

  

5.  Which of the following is not a form of internal business communication?  

(a)  Memos (b)  Intercom  (c)  Meetings  (d)   None of the above  

 

6.  One of the following is not a formal means of communication.  

(a)  Grapevine  (b)  Newsletter  (c)  Meetings  (d)  e-mails   

 

7.  External business communication is the ---.  

(a)  the transmission of information from an organisation to a person or entity outside 

the organisation  

(b)  transmission of information between or among unit heads in an organisation  

(c)  transmission of information between or among staff of an organisation  

(d)  transmission of information between or among unit heads in an organisation  

 

8.  The purpose of internal communication includes all except one of the following.  

(a)  To request information   (b)  To provide information  

(c)  To board information    (d)  To record information  

 

9.  One of the goals of external business communication is to ---. 

(a)  improve an organisation’s image  (b)  support the government  

(c)  improve staff corporate social responsibilities  

(d)  promote staff  

 

10. One of the ways of improving an organisation’s external communication is by ---.  

(a)  choosing dress code for the organisation’s executives  

(b)  choosing correctly what information to be shared with external bodies  

(c)  emphasising external rather than internal communication   

(d)  organising meetings with external bodies  



11.  Oral communication is most suitable in situations where ---.  

(a)  many people are involved   (b)  immediate feedback is required  

(c)  a lot of information is required  (d)  the sender is a foreigner  

 

12.  Differences in the understanding and use of body language during communication may 

result from ---. 

(a)  gender differences    (b)  language differences  

(c)  cultural differences    (d)  emotional state  

 

13.  Feedback in business communication is best defined as ---. 

(a)  the exchange of information between an encoder and a decoder  

(b)  non-verbal response to a message  

(c)  verbal response to a message  

(d)  the response or acknowledgement of the decoder to the encoder  

 

14.  One of the benefits of feedback to an organisation is that it ---.  

(a)  exposes only unprofessional conducts by staff   

(b)  reduces staff strength   (c)  generates staff strength         

(d)  has the capacity to increase productivity  

 

15.  Negative feedback requires all the following except ---. 

(a)  attention  (b)  action   (c)  retaliation  (d)  evaluation  

 

16.  Operational feedback is usually given ---. 

(a)  intentionally     (b)  externally   

(c)  internally        (d)  by special government agencies  

 

17.  One of the benefits of effective customer service to an organisation is ---.  

(a)  negative publicity    (b)  positive corporate image  

(c)  victory in court cases    (d)  increased staff strength  

 

18.  One of the following is not advisable in handling customers’ complaints.  

(a)  Attentive Listening    (b)  Acknowledging the challenge(s)  

(c)  Interrogating the complainant where necessary  

(d)  Promising to meet all the complainant’s requests  

 

 19. --- is/are optional in a formal report.  

(a)  Terms of reference    (b)  The title of the report  

(c)  Findings     (d)  Additional materials  

 

20.  Formal reports can be used for audiences that are ---.  

(a)  within an organisation only   (b)  outside an organisation only  

(c)  within and outside an organisation  (d)  None of the above  

 

21.  The relevance of terms of reference in a formal report is that it ---.  

(a)  is more important than other sections of a report  

(b) shows the title of the report  

(c)  provides a permanent record of the nature, scope of the report and investigation  

(d)  shows the name of the writer  

 



22.  A circular differs from a memorandum in one of the following ways. It ---. 

(a) does not require a reply   

(b)      is only circulated by the administrative manager  

(c) is only used for internal communication   (d) None of the above 

 

23.  Which of the following is true about circulars? They ---.  

(a)  are circulated to a group of people    

(b)  must be concise and complete  

(c)  may be for a closed group or general circulation  (d)  All of the above 

 

24.  Good public communication skills are essential because they ---.  

(a)  improve brand awareness and make job execution better  

(b)  advance an employee’s career and job security  

(c)  (a) and (b)     (d)   None of the above  

 

25.  Business meetings include all of the following except --- meetings.  

(a)  club   (b)  board   (c) departmental (d)  management 

 

26.  In a meeting, a motion is ---.  

(a)  a proposal by a member which is required to be supported by another member  

(b)  the act of moving an item to be discussed  

(c)  the act of re-scheduling a meeting to a later date  

(d)  the act of re-arranging seats in a meeting venue  

 

27.  An approved proposal during a committee meeting is said to have been ---.  

(a)  documented     (b)  scheduled   

(c) moved by the committee     (d)    endorsed  

 

28.  An annex in a meeting agenda is the same as ---.  

(a)  additional cost of running a meeting   (b)  a list of people in attendance  

(c)  an additional material attached to the agenda  

(d)  minutes of the previous meeting  

 

29.  Which of the following is true about consecutive yearly numbering of minutes of 

meetings?  

(a)  Only the minutes of the first meeting in a year count 

(b)  Only the first and the last minutes in a year count 

(c)  Only the minutes of principal officers of an organisation count 

(d)  Each year’s minutes are regarded as a single unit 

 

30.  Organisations’ general meetings are held on ---.  

(a)  regular basis only    (b)  ad-hoc basis only  

(c)  both regular and ad-hoc basis  (d)  none of the above  

 

31.  Departmental meetings are also known as --- meetings. 

(a)  operational  (b) general  (c)  open   (d) closed door 

 

32.  Customer’s feedback may be elicited through ---. 

(a)  comments and criticisms    (b)  grapevine   

(c)  online forms      (d)  surveys 



33.  Dichotomous questions in a questionnaire require the respondents to ---.  

(a)  choose between two answers   (b)  state their responses  

(c)  comment on a topic     

(d)  assign scales to issues raised in the questionnaire  

 

34.  By the structure of business reports, --- comes first.  

(a)  Title and Terms of Reference   (b)  Introduction  

(c)  Summary and Synopsis    (d)  Recommendation(s)   

 

35.  A press release contains all the following information about the contact person in an 

organisation that is sending it except the ---. 

(a)  name    (b) address   (c)  email      (d) status or designation  

 

36.  The symbol ### in a press release indicates its ---. 

(a)  beginning  (b)  middle  (c)  end  (d)  none of the above  

 

37.  One of the following is not applicable to billboards.  

(a)  They are mobile   (b)  They are placed in strategic locations 

(c)  They are usually expensive   

(d)  They can contain their user’s contact or website address 
 

38.  Specialised magazine adverts have the advantage of --- 

(a)  reaching their audience at a specified time   

(b)  reaching their audience on time   (c) reaching the cost of production  

(d)  reaching out to their target audience quickly and easily  

 

39.  The cost of television adverts depends mostly on ---.  

(a)  the presenter on duty    (b)  the organisation advertising  

(c)  the time slot for the advert   (d)  none of the above  

 

40.  Transit adverts can be done on ---.  

(a)  buildings  (b)  road sides  (c)  T-junctions  (d)  bicycles 

             

41.  One of the demerits of radio adverts is that ---.  

(a)  people do not like listening to radios  (b)    only poor people listen to radios  

(c)  it is not widespread     

(d)  only people who listen to the station where the advert is placed are reached  
 

42.  To give physical expression to a message during public speaking, a speaker must ---.  

(a)  effectively utilise available communication gadgets  

(b)  memorise all slides for the presentation  

(c)  speak loudly to the audience  

(d)  effectively utilise body language  
 

43.  Which of the following does not guarantee effective presentation?  

(a)  The use of body language    (b)  Good voice quality  

(c)  Politeness      (d)  Rapid speech  
 

44.  One of the following computer programmes serves as an aid to presentations.  

(a)  Microsoft Word     (b) Microsoft Excel  

(c)  Microsoft Powerpoint    (d)  Mozilla Firefox  



45.  The application of technology to business ---.  

(a)  increases its manpower requirement   (b)  reduces its revenue  

(c)  increases its cost of production   (d)  increases its revenue  

 

46.  Which of the following aspects of an organisation is not affected by technological  

infrastructure? The organisation’s ----.   

(a)  culture (b)  efficiency  (c)  relationships  (d) None of the above  
 

47.  Sensors ---,  

(a)  perform human operations   (b)  perform non-human operations  

(c)  think and act like human beings  

(d)  detect and respond to electronic and optical signals  
 

48. In Information Technology Communication, (IoT) means --- 

(a)  Internet of Trade    (b)  Institute of Technology  

(c)  Internet of Things    (d)  Internet of Technology  

 

49.  Which if the following is/are no longer in common use?  

(a)  Faxes   (b)  Emails  (c) WhatsApp  (d)   None of the above 

 

50.  One of the office functions which cannot be automated through the use of the technology 

is its ---.  

(a)  payroll  (b)   business decisions (c)   record keeping     (d)   accounting 

 

SECTION B: (Questions 51 – 60) Pick the Word that is Correctly Spelt  
51.  --- is a strong and uncontrollable desire to steal. 

(a)  Kleptomania  (b)  Kletomania  (c)  Kcleptomania       (d)  Kleptomana  

 

52.  A ----- is a natural language that develops from the process of two or more languages 

mixing into a new one.  

(a)  creleo   (b)  creole   (c)  croole   (d) crieole    

 

53.  None of Chinua Achebe’s books was published ---.  

(a)  psot humurously (b) post homourously (c) post humously (d) post-humustly 

 

54.  --- is one of the Romance languages which spread worldwide in the 15th and 16th 

centuries.  

(a)  Portugese  (b)  Potuguese  (c)  Portugeze  (d)  Portuguese 

 

55.  I could not believe that Judith was so --- to trust him. 

(a)  niave   (b)  naieve   (c)  nartive  (d) naïve 

 

56.  Paul’s parents are both literary ---. 

(a)  artests   (b)  artysts   (c)  artistes  (d)  hartistes  

 

57.  My hobby, ---, is to many - a joke. 

(a)  transpoting   (b)  trainsporting  (c)  transpotting  (d)  trainspotting 

 

58.  For inquiries, please see Mrs. Idowu, the programme ---.    

(a)  codinator  (b)  coordinator  (c)  cordinatore  (d)  corordinator   

 



59.  --- is a vice.  

(a)  Faithfullness  (b)  Faithfulnes   (c)  Fatefullness   (d)  Faithfulness  

 

60.  The money you were given is for ----- expenses. 

(a)  miselaneous   (b)  miscelenous  (c)  miscellanuis (d)     miscellaneous   

 

SECTION C: (Questions 61 – 70) Choose the Sentence Which is Correctly Written 
61.  (a)  You are to be employed on the condition that you will remain unmarried for the  

next five years.   

(b)  You are to be employed on the condition that you will remain unmarried till the 

next five years.  

(c)  You are to be employed on the condition that you will remain unmarried in the 

next five years.  

(d)  You are to be employed on the condition that you will remain unmarried 

throughout the next five years.  

 

62.  (a)  Teaching job is such a skillful one.   

(b)  The teaching job is such a skillful one.   

(c)  Teaching job is such skillful one.    

(d)  The teaching job is such skillful one.    

 

63.  (a)  Himself and Myself have worked together for ten years.  

(b)  Myself and himself have worked together for ten years.  

(c)  He and me have worked together for ten years.  

(d)  He and I have worked together for ten years. 

 

64.  (a)  The ATM machine is not dispensing money at the moment.  

(b)  The ATM machine is not paying money at the moment.   

(c)  The ATM is not paying money at the moment.   

(d)  The ATM is not dispensing money at the moment.   

 

65.  (a)  We do not have much seats in the conference hall.  

(b)  We do not have much seat in the conference hall.  

(c)  We do not have so much seats in the conference hall.  

(d)  We do not have many seats in the conference hall. 

 

66.  (a)  The manager has asked the driver to provide the full details of the accident.  

(b)  The manager has asked the driver to provide the fullest details of the accident.  

(c)  The manager has asked the driver to provide the details of the accident.   

(d) The manager has asked the driver to provide the full detail of the accident. 

 

67.  (a)  The management is investigating the unlawful theft of the company’s computers.  

(b)  The management is investigating the illegal theft of the company’s computers.  

(c)  The management is investigating the thefting of the company’s computers.  

(d)  The management is investigating the theft of the company’s computers. 

 

68.  (a)  Our office furnitures are worn out.  (b)  Our office furnitures is worn out.  

(c)  Our office furniture is worn out.  (d)  Our office furniture have worn out.  

 

 



69.  (a)  Kate is by far the most brilliant of the two girls.  

(b)  Kate is by far the more brilliant of the two girls.   

(c)  Kate is by far the highest brilliant of the two girls.  

(d)  Kate is by far the best brilliant of the two girls. 

 

70.  (a)  I like the way you address her.  (b)  I am liking the way you address her.   

(c)   I likes the way you address her.  (d)  I like the way you addresses her.     

 
SECTION D: (Questions 71 – 80) Choose the Sentence Which is Correctly 
Punctuated  
Which of the sentences is correctly punctuated? 
 

71.  (a)  “Your temperature is alright”, the nurse said to the boy.  

(b)  “Your temperature is alright”. The nurse said to the boy.  

(c)  Your temperature is alright,” the nurse said to the boy”.   

(d)  “Your temperature is alright”;  the nurse said to the boy. 

 

72.  (a)  when she comes here I shall ask her about it.   

(b)  When she comes here I shall ask her about it.  

(c)  When she comes here, I shall ask her about it.  

(d)  When she comes here; I shall ask her about it. 

 

73.  (a)  My uncle is a poor uneducated honest simple man but I love him.  

(b)  My uncle is a poor, uneducated honest simple, man but I love him.  

(c)  My uncle is a poor, uneducated, honest, simple man; but I love him.  

(d)  My uncle is a poor; uneducated; honest; simple man but I love him. 

 

74.  (a)  Alas! She has failed in life.   (b)  Alas!, She has failed in life!  

(c)  Alas! she has failed in life.   (d)  Alas: She has failed in life! 

 

75.  (a)  The reason for her delay is this ‘she didn’t want to get up early’.   

(b)  ‘The reason for her delay is this’, she didn’t want to get up early.  

(c)  The reason for her delay is this; she didn’t want to get up early.  

(d) The reason for her delay is this: she didn’t want to get up early. 

 

76.  (a)  On the evening of a day late in September! the first heavy rain began to fall.  

(b)  On the evening of a day late in september, the first heavy rain began to fall.  

(c)  On the evening of a day late in September, the first heavy rain began to fall.  

(d)  on the evening of a day late in september, the first heavy rain began to fall. 

 

77.  (a)  There was one very obvious reason for Glorias failure, her inability to study.  

(b)  There was one very obvious reason for Gloria failure, her inability to study.  

(c)  There was one very obvious reason for Glorias’ failure, her inability to study.  

(d)  There was one very obvious reason for Gloria’s failure: her inability to study. 

 

78.  (a)  The man was amazing, and was able to play: the piano, violin, double bass,  

trombone, harp, and drums.  

(b)  The man was amazing, and was able to play (the piano, violin, double bass,  

trombone, harp and drums).   

(c)  The man was amazing and was able to play the piano, violin, double bass,  



trombone, harp and drums.   

(d)  The man was amazing, and was able to play the piano violin, double bass, 

trombone, harp and drums.  

 

79.  (a)  The directive stated quite clearly (page 467, second paragraph) that the Institute  

will be closed from December 20.  

(b)  The directive stated quite clearly (page 467 second paragraph) that the Institute 

will be closed from December 20.  

(c)  The directive stated quite clearly (page, 467 second paragraph) that the Institute 

will be closed from December 20.  

(d)  The directive stated quite clearly (page 467, second paragraph that the Institute 

will be closed from December 20). 

 

80.  (a)  She asked me when I got married?  (b)  She asked me when I got married.  

(c)  She asked me, when I got married.  (d)  She asked me when i got married? 

 
SECTION E – ATTEMPT ALL QUESTIONS (Questions 81 – 90) 
Read the questions below carefully choose the option that correctly fills the blank 
spaces.  
81.  Our manager is leaving the company to --- a new appointment elsewhere. 

(a)  take over  (b)  take on  (c)  take up  (d)  take off 

 

82. They ---- the scene before the accident occurred. 

(a)  leaves   (b)  has left  (c)  will leave  (d)  had left 

 

83.  I have never --- humiliated in my life. 

(a)  being so  (b)  so being  (c)  been so  (d)  so been 

 

84.  It is --- this background that we can understand the issues clearly. 

(a) for  (b)  against  (c)  with   (d)  on  

 

85.  The members of the association were just rounding --- their discussion when the police 

arrived.  

(a) up   (b)  off   (c)  of   (d)  in 

 

86.  I tendered for the contract but my application ---. 

(a)  fell in   (b)  fell through  (c)  fell off  (d)     fell down 

 

87.  Since we were not given all the things we requested, we should --- with what we have. 

(a)  make up  (b)  make over  (c)  make out  (d)     make do 

 

88.  My boss hoped that the new employee --- to help the clients. 

(a)  can be able  (b)  is able   (c)  will be able      (d)  must be able 

 

89.  This engine is --- that one. 

(a)  superior than     (b) more superior than      (c) more superior to     (d) superior to 

 

90.  By the time they will arrive, we --- the work. 

(a)  should have finished   (b)  could have finish  

(c)  will finish    (d)  have finished 



SECTION F – ATTEMPT ALL QUESTIONS (Questions 91 - 100) 
Read the passages below carefully and answer the questions which follow. 
 

The need to ensure that children imbibe the culture of discipline early in life cannot be 

overemphasised. One of the ways parents can ensure that their children grow up to become 

responsible and disciplined adults is by setting boundaries, that is, spelling out what is acceptable 

and appropriate or otherwise. This enables people to maintain healthy relationships and to stay 

out of trouble always. Unfortunately, many parents, especially those who themselves grew up 

under very strict parents or teachers, find it difficult to lay down any boundaries at all. Such 

parents are usually adamant to enforcing discipline in the homes with the excuse that they will 

never like their children to go through ‘such unpleasant experience’ as they. Even when a child 

acts in a way that needs a firm boundary and an immediate consequence imposed, these parents 

may rather prefer to dismiss the action with very loose warnings without taking an action.  

 

In many cases, children raised in homes where discipline and boundaries are played down on 

end up being bossy themselves. They also exhibit antisocial behaviour, having not been made to 

face the consequences of such behaviour early in life.   

 

91.  Why according to the passage do parents raised by strict parents or teachers fail to set 

boundaries in their homes? 

(a)  They detest disciple.    (b)  They feel it is unnecessary.  

(c)  They hate their children going through such experience.  

(d)  They like undisciplined children.  

 

92.  Which word can substitute the word ‘boundaries’ as it is used in the passage?  

(a) limits   (b) barriers  (c)  gates   (d)  hurdles 

 

93.  Which of the following is a good title for the passage? 

(a)  Parents and their Children   (b)  The Right Way to Raise a Child  

(c)  Setting Boundaries in Homes  (d)  None of the above 

 

94.  What is the paradox expressed in the passage? 

(a) Many parents do not like to discipline their children.  

(b)  Parents who fail to control their children for the fear of being bossy usually end 

up raising children who are bossy themselves.   

(c)  Parents who are not bossy like bossy children.  

(d)  No parent likes a bossy child. 
 

95.  Which of the following is not true according to the passage? 

(a)  Parents who suffered the legacy of strict teachers or parents are usually lenient 

with disciplining their children.  

(b)  Parents who grew up under strict parents or teachers are more likely to discipline 

their children than those who did not.  

(c)  Children whose parents are loose with discipline are likely to exhibit antisocial 

behaviour.   

(d) There is every need to set boundaries in the home.      

 

 

 



Ladies and gentlemen, I heartily welcome you to today’s epoch-making event and one of the best 

political rallies ever in this democratic dispensation. Before proceeding in this speech, I wish to 

acknowledge the presence of our very distinguished guest, a philanthropist and an August visitor, 

Alhaji Kabiu Mohammed, for his unwavering support and commitment towards the progress and 

success of our noble party and towards the candidature of Chief Nnadimma Augustus. Alhaji, 

you are welcome. 

 

Like I said earlier, today is a great day — a day that you and I will decide who champions the 

course of this noble state for the next four years or more; a day when as bona fide citizens, we 

join hands to change the trajectory of our state by nominating and subsequently electing one of 

our own illustrious sons, Chief Nnadimma as the party’s gubernatorial candidate and thereafter, 

as the state governor. 

 

Distinguished Ladies and Gentlemen, may I remind you that Chief Nnadimma has meritoriously 

served our state in different capacities: as the secretary to one of the former state governors, as a 

commissioner, just to mention but a few. We also know him to be a philanthropist and lover of 

humanity and peace. At this juncture, I wish to disabuse your minds on his opponent’s accusation 

that he is a religious bigot. I stand here to clearly state that he is far from that. Although he once 

demolished some churches in some areas in the state and replaced them with shrines so as to 

ensure that our traditional religion, which he is an adherent of, does not go into extinction 

 

Ladies and gentlemen, I enjoin you to vote for Chief Nnadimma as a vote for him is a vote for 

progress, equity, good governance and much more. 

 

Thank you all for your patient listening. 

 

96.  The tone of the passage is ---.  

(a)  argumentative  (b)  narrative  (c)  persuasive  (d)   expository 

 

97.  From the passage, we can deduce that Chief Nnadimma is a ---. 

(a)  Christian  (b) Budhist   (c)    Traditional Religion worshipper    (d) Moslem  

 

98.  What is the relationship between the speaker and Chief Nnadimma? They are ---. 

(a)  friends    (b) members of the same political party  

(c)  colleagues    (d)  neighbours 

 

99.  The use of the word ‘disabuse’ in paragraph 3 by the speaker suggests that ---. 

(a)  Chief Nnadimma is only misconceived to be a religious bigot  

(b)  Chief Nnadimma is truly a religious bigot  

(c)  people dislike Chief Nnadimma   (d) None of the above 
 

100. Which of the following is not stated in the passage about Chief Nnadimma? He is ---. 

(a)  a young politician   (b)  seeking a political post  

(c)  involved in the state politics   

(d)  the speaker’s ideal candidate for the state gubernatorial position 

 

 

 

 

 



Chief Examiner’s Comment 

74% of the candidates passed with an impressive performance.   
 

Comments on Overall Performance 

The overall performance was impressive. 

 

Suggestion(s) on Improvement(s) (if any) 

Candidates are advised to continuously prepare adequately for future examinations. 
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All answers should be shaded on the answer form in accordance with the 
following instructions: 
 

• Two hours are allowed for this paper.  

• Fill in the information requested on the answer form and attendance 
form.  
 

• Handle the answer form with care and do not write notes on it.   

• No marks are deducted for incorrect answers, so do not leave any 

questions unanswered. 

• The answer form should be handed over personally by you to the 

invigilator before you leave the Examination Hall.   

• Insert your candidate’s number as given on your admission permit and 

any other particulars required on the answer form. 

• Ensure that you write the full and correct candidate’s number. 

• If you bring a calculator into the examination room, it must be a silent 

battery or solar-powered non-programmable calculator.  The use of a 

programmable calculator is prohibited. 

• No name should be written on the answer form.  
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INSTRUCTIONS TO CANDIDATES 

 
READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS 
 

Section A  
The questions 1 – 50 in this paper are numbered and four options follow each question. 
The options are labeled a,b,c,d. Only one of these options is correct. Select your answer 
for each question and indicate it on the answer form by filling in the appropriate box.  
Example:  
Employers’ liability insurance certificates are legally required to be kept for a  
minimum of … 

(a)  40 years from inception  (b) 50 years from inception  
(c) 40 years from expiry   (d) 50 years from expiry 

The answer is option (c). 
 
Section B   
Questions 51 – 60 are to be answered as either True (T) or False (F). Select your chosen 
option and indicate it on the answer form by filling in the appropriate box.  
 
Example:  
An employers’ liability insurance never expires. (True or False).  
The correct option is False (F).  
 
Section C  
Questions 61 – 75. This section contains three (3) case studies each followed by five 
questions. The case studies are not numbered and appear at the top of the page. Each 
of the five questions following a case study is numbered. Four options follow each 
question. The options are labelled, a, b, c, d. Only one of these options is correct or best. 
Select your answer for each question and indicate it on the answer from by filling in the 
appropriate box. 
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 – 50) 
1. Apart from private motor and household, “helplines will be a feature in … policy 

(a) employer’s liability    (b) personal accident  

(c) travel insurance    (d) fire and special perils  

 

2 Analysing the upside and downside of the risk is the risk … stage in risk management.  

(a) control  (b) analysis (c) identification   (d)   quantification   

 

3. The professional employed by the underwriter to assist in carrying out physical 

examination of the risk is the … 

(a) broker  (b) loss adjuster (c) surveyor  (d) planner   

 

4. … is the officer within the insurance company that make use of the report and findings 

of the surveyor. 

(a) Underwriter       (b)  Investment Expert   

(c)    Auditor     (d)  Claims Administrator  

 

5. When analysing risk, two measurements are very important, one is frequency and the 

other is …  

(a) average  (b) betterment  (c) quantum  (d) severity  

 

6. Most general insurance policies are issued for … months.  

(a) 36   (b) 48   (c) 24   (d) 12  

 

7. …policy does not fall into the normal period for most standard general insurance policies. 

(a) Contractor’s All Risks   (b) Consequential Loss 

(c) Burglary     (d) Fire and Special Perils  

 

8. When an insurer decides to cancel cover, the premium returned to the insured is on the 

basis of … premium.  

(a) single   (b) level   (c) pro-rata  (d) short period  

 

9. If an insured takes the decision to cancel the policy mid-term, the insurer will charge 

premium for the time on cover on … premium basis.  

(a) short-period   (b) single  (c) pro-rata (d)   minimum deposit  

 

10. The underwriter performs all these roles except … 

(a) calculates a suitable premium   

(b) takes the decision of which risk to accept or decline 

(c) prepares the financial account for the board  

(d) prepares the policy document as evidence of the contract  

 

11. Most contracts of sale based on a promise to do something in agreed circumstance is 

subject to a legal principle known as … 

(a) uberrimae fides   (b) utmost good faith  

(c) caveat emptor     (d) fact speaks for itself  

12. … is not true of the duty of disclosure of material information.  

(a) The duty rests on the proposer  (b) The duty rests on the Insurer  

(c) The duty rests on both parties  

(d) The duty is restricted to inception and not renewals  



13. … does not affect the duty of fair presentation during the currency of the policy contract. 

(a) Information relating to relocation to another risk address  

(b) Information relating to change in the nature of business 

(c) Information already made known to the insurer 

(d) Information on circumstances that increase the risk of loss  

 

14. … cannot be classified as a physical hazard. 

(a) Condition of the physical state of a vehicle  

(b) Dishonest person who had a previous fraud conviction  

(c) Fire resistant doors in all exit points of the house  

(d) Installation of a mortice lock on the doors of the house  

 

15. … is the professional that is said to act as the “eyes and ears” of the underwriter in the 

inspection of the risk.  

(a) Broker  (b) Surveyor  (c) Adjuster  (d)     Actuary  

 

16. … is not an essential element of a contract. 

(a) Consideration       (b) Acceptance  (c) Occupation   (d) Offer  

 

17. … is not an example of material information/material circumstances.  

(a) Special or unusual facts regarding the risk  

(b) Any information that is in the public domain/knowledge  

(c) Any fact which those concerned with the class of insurance and field of activity 

understand as of fair presentation  

(d) Any particular concerns which lead to the request for insurance  

 

18. Decisions within a company are basically made at three levels within the organisation, 

which are all these except at … level.  

(a) board   (b) manager  (c) operational  (d) informal   

 

19. Divisions in an organisation have different areas of performance. The … level of decision 

makers utilises the information/ data provided for divisions/ departments.  

(a) consultants  (b) board  (c) manager  (d) union  

 

20. … is considered as the main or principal cost of production when viewing a company as 

a production entity. 

(a) Premium (b) Commission (c) Reserves (d) Claims  

 

21. Periodic Payment Order (P.P.O) is used in connection with … type of claims. 

(a) Business Interruption     (b) Erection in Risks  

(c) Personal Injury     (d) All Risks   

22. Severity in relation to insurance is about … 

(a) how big a loss is in monetary terms  

(b) inflation and its effect on claims  

(c) maintenance circle in engineering insurance   

(d) the highest individual claim paid in a year  

 

23. Measurement of frequency and severity are very important in the assessment of risk. The 

total loss of a large jet plane with carrying capacity of 300 passengers mid-air can be 

classified as … 



(a) High Frequency and Low Severity (b) High Frequency and High Severity 

(c) Low Frequency and Low Severity  (d)    Low Frequency and High Severity  

 

24. Risk accumulation could happen in a number of ways except … 

(a) fire which spread across buildings in an estate  

(b) storm and flood damage over an area  

(c) motor accident of a car that was a total wreck  

(d) many insured covered by the same Insured in a compact shopping complex  

 

25. Provision for losses which had occurred but had not yet been reported as at the end of the 

financial year is referred to as … 

(a) OLR (Outstanding Loss Ratio) (b) ELR (Earned Loss Ratio) 

(c) IBNR (Incurred But Not Reported)  (d) CLO (Claims Loss Ratio)  

 

26. Loss Ratio of data extracted directly from the system that does not take into consideration 

that 100% of the premium is not earned in the financial year is called the … loss ratio.  

(a) net  (b) earned   (c) outstanding    (d) aggregate  

 

27. The name used for the monitoring period at account level where both individual policy 

data and group data is reviewed is called … year.  

(a) policy   (b) accounting  (c) calendar  (d)   underwriting  

 

28. The accumulation of a large number of claims all attributable to one common event is 

called … claims.  

(a) extended  (b) catastrophe       (c)     floodgate  (d)  maxima  

 

29. Long tail claims are normally associated with … 

(a) fire and special perils    (b) burglary commercial  

(c) travel insurance    (d) employer’s liability   

 

30. The element of expenses which is a cost that does not increase with the size of the risk is 

called … cost.  

(a) variable  (b) fixed   (c) marginal  (d) total  

 

31. The renumeration given to the agent, intermediary, or broker that introduces business to 

the insurer is called …  

(a) commission   (b) premium (c) overriding  (d)

 return   

32. The applicable commission rate for motor insurance business in Nigeria for Brokers is 

… 

(a) 10%  (b) 12.5%   (c) 15%  (d) 20%  
 

33. The incentive scheme aimed at the insured to put in place better risk management 

procedures that lead to lower claim is … 

(a) reduced premium scheme    (b) upfront discount benefit  

(c) low claims ratio     (d) net premium ratio  
 

34. The underwriting result of an insurance company that does not take investment into 

consideration is called … 

(a) underwriting result    (b) annual gross premium income 

(c) aggregate net premium  (d) profit sharing ratio  



35. The underwriting result of the insurance company does not have … as a component. 

(a) claims  (b) dividends  (c) commission  (d)   expenses  
 

36. The data of claims movement over a period of time reflecting adjustments in reserves 

based on information is referred to as claims … 

(a)  cycle   (b) consolidation  (c) run-off  (d)   aggregation   
 

37. When rates in the industry are reducing, the market is … 

(a) hardening  (b) melting (c) fragmenting  (d)  softening  

 

38.  … does not have an effect on the length or duration of the market cycle. 

(a) Amendment to legislation   (b)    Leadership change at the institute  

(c) Weather related occurrences   (d) Major disaster   

 

39. At a time in the industry when rates are increasing, the market is said to be … 

(a) hardening      (b) melting  (c) consolidating  (d)  softening  

 

40. EML involves assessing the maximum loss that could occur on a risk. This is relevant in 

… policy.  

(a) personal accident    (b) public liability  

(c) private motor     (d) fire and special perils  

 

41. A serious windstorm occurred over a wide area resulting in damages to households, 

factories, vehicles parked especially in the open, and small vessels in the city harbor.  

This occurrence can be described as a … in insurance. 

(a) large loss (b) catastrophe        (c)     target risk     (d)    risk layering   

 

42. A type of reinsurance program that is arra(nged in layers as a multiple of lines, a line 

being the insurance company’s retention is called a/an … 

(a) quota share     (b) linear treaty  

(c) excess of loss treaty    (d) surplus treaty  

 

43. An underwriter that wish to confine the loss ratio of his company for a particular class 

not to exceed a specified maximum percentage will use a/an … treaty.  

(a) surplus  (b) excess of loss (c) stop loss  (d) quota share   

 

44. The main source by which information is provided to the underwriter is the … 

(a) request note  (b)   proposal form   (c)  prospectus     (d)  offer letter   
 

45.    Commercial vehicles tend to attract higher premiums due to all the options below except 

… 

(a) frequency of use    (b) union to which it is afflicted  

(c) type of cargo it is used to carry     (d)   tendency for increased third party damages  
 

46. … is considered to be the major rating factor in personal accident insurance. 

(a) Age      (b) Pastime activities   

(c) Occupation     (d) Family circumstances   
 

47. Lifestyle/physical conditions such as smoking and obesity will be important underwriting 

considerations in … class of insurance business.  

(a) employer’s liability    (b) all risks insurance  

(c) permanent health insurance   (d) burglary insurance   



48. You are told that in the underwriting consideration of a type of insurance, underwriters 

were concerned more about the use to which an item will be put, the market where it 

would be sold, and its potential to cause third party insurers. The type of cover under 

consideration here is the … policy.  

(a) erection all risk   (b) product liability  

(c) legal expenses    (d) business interruption   

 

49. In … type of insurance, the most important consideration is the resistance to forced entry 

through doors and windows.  

(a) theft      (b) fire and special perils     

(c) consequential loss    (d)   boiler pressure   

 

50. The major consideration is … policy is the trade and processes of the proposal and the 

extent of flow of visitors to the places of business.  

(a) product liability    (b)  pollution liability  

(c) public liability    (d) fidelity guarantee   

 
SECTION B – ATTEMPT ALL QUESTIONS (Questions from 51 to 60)  
Answer True (T) or False (F)  
 

51. The law of large numbers in insurance enables the insurer to determine a more accurate 

rate than when there are few risks units.       

52. The policy is effectively evidence of the contract and not the contract.  

53.  The Household Policy is subject to declaration at the end of the insurance period, because 

premium was calculated on estimated value.       

54. The Employee Compensation Insurance in Nigeria is administered by a pool owned by 

all insurance companies.         

55.  A product liability policy is usually sold in conjunction with another policy – professional 

indemnity.           

56.  The insured in the employers’ liability policy are the workmen.    

57. The material damage provision is found in the fire and special perils policy. 

58. The EML is considered by the insurer to be an accurate reflection of the worst financial 

effect that the maximum foreseeable loss could be.     

59. Notification Condition can be said to be a condition precedent to the contract.  

60. An excess and a deductible are basically the same, the distinguishing factor being size.  
 

SECTION C – ATTEMPT ALL QUESTIONS (Questions 61 – 75) 
Read the cases below carefully and answer the questions which follow. 
A company owned by some foreigners has just completed an industrial complex where they 

manufacture variety of plastic products used for domestic and for plumbing related purposes. 

You are to advise them as they wish to get their insurance packages right from inception.  
 

61. What type of cover will you advise them to put in place for the plants, machinery, and 

equipment bought for them by their home office to be transported?  

(a) Marine Cargo  (b) Aviation Hull  (c) Burglary    (d)    Marine Hull  
 

62. They are thinking ahead that after the commencement of operations, what policy will 

stabilise them in the event of a serious fire where they are not able to get back to 

production for a period of time?  

(a) Fire and Special Perils    (b) All Risks   

(c) Business Interruption     (d) Professional Indemnity  



63. They are concerned about taking their finished products to their distributors across the 

country. Which policy will protect in the event of products damaging or getting lost 

during journey from the factory to the various places.  

(a) Marine Hull      (b) Goods-in-Transit  

(c) Motor Commercial     (d) Erection All Risks  

 

64. The insurance company approached to give fire and special perils cover indicated a rate 

with a proviso, “subject to satisfactory survey”. Who in the professional pool will the 

company send to the risk location for this purpose?  

(a) Lawyer (b) Engineer (c) Actuary  (d) Surveyor   

 

65. There is a concern about the integrity of staff in charge of the assets of the company – 

raw materials, cash and finished goods. Which policy will you recommend?  

(a) Group Personal Accident    (b) All Risk  

(c) Fidelity Guarantee     (d) Professional Indemnity  

 

The core operation of any insurance company is the acceptance of risk through the process of 

underwriting. This process involves many documentations and is guided by internationally 

acceptable principles.  

 

66. Traditionally, what is the most common mechanism which the underwriter receives 

information about the risk to be insured.  

(a) Prospectus  (b) Website     (c)     Journal Review    (D) Proposal Form  

 

67. Pricing is easier for insurers when dealing with a large number of similar homogenous 

risks. This is known as … 

(a) statistical variety    (b) industry review  

(c)  law of large numbers    (d) concentration analysis  

 

68. Which document will the underwriter issue when they have taken a decision to accept 

the risk but all information/documents are yet to be received?   

(a) Offer letter (b) Cover note     (c)   Endorsement    (d)  Demand note  

 

69. Adjustable premiums necessitating deposit premium are used when the exposure unit is 

unknown at the start of the period of insurance. Which of these will be an example of 

such?  

(a) Employer’s Liability   (b) Fire and Special Perils  

(c) All Risks     (d) Personal Accident  

 

70. The internet has revolutionised the way insurers sell certain insurance products with the 

presence of so many aggregators. Which of these is mostly sold through this means? 

(a) Fidelity Guarantee    (b) Product Liability    

(c) Private Motor     (d) Contractors All Risks  

 

 

 

 

 

 



Mazi Ugo Kenny, a young businessman, has just opened a manufacturing company. He came to 

you that he was advised to take two vital policies in relation to assets – fire and special perils and 

business interruption questioning the rationale in premium outlay on two insurance covers. 

Please attend to his enquiries.  

 

71. You will tell him that the standard fire policy cover the following risk except …  

(a)  fire    (b)  theft   (c) lightning  (d) explosion (from domestic gas uses only) 

 

72. You will also enlighten him that special perils cover is added to the standard fire policy 

in order to broaden the scope of the fire policy. Which of these is not one of such perils?  

(a) Aircraft/Aerial Devices   (b) Malicious Damage  

(c) Impact     (d) Lightning  

 

73.  You will inform him that the business interruption covers the actual or potential earnings 

and additional expenses as a result of material loss covered under property insurance. 

What is the main item under the business interruption policy?  

(a) Indemnity Period    (b) Variable Cost  

(c) Gross Profit    (d) Auditor’s Fee  

 

74. He will also be informed that there will usually be a requirement in the business 

interruption policy in respect of the existence of a property policy covering physical 

damage. This is the … 

(a) material damage proviso   (b) connecting condition  

(c) pairs determinant   (d) bilateral agreement  

 

75.  He will be told that in business interruption insurance, the maximum time the income of 

the business could be affected as a result of damage is known as … 

(a) indemnity period   (b) period of insurance  

(c) maintenance period    (d) testing period  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Chief Examiner’s Comment 

63.54% of the candidates passed the examination, though above average, but could be better.   

 

Comments on Overall Performance 

Performance was above average. Candidates should prepare adequately for the examination 

 

Suggestion(s) on Improvement(s) (if any) 

Candidates are advised to undertake more thorough studies and ensure they are well-prepared 

for the examinations. 

 

 

 

 

 

 

 

 

 

F05 - INSURANCE UNDERWRITING PROCESS 

1 C 21 C 41 B 61 A 

2 C 22 A 42 D 62 C 

3 C 23 D 43 C 63 B 

4 A 24 C 44 B 64 D 

5 D 25 C 45 B 65 C 

6 D 26 C 46 C 66 D 

7 A 27 D 47 C 67 C 

8 C 28 B 48 B 68 B 

9 A 29 D 49 A 69 A 

10 C 30 B 50 C 70 C 

11 C 31 A 51 T 71 B 

12 D 32 B 52 T 72 D 

13 C 33 C 53 F 73 C 

14 B 34 A 54 F 74 A 

15 B 35 B 55 F 75 A 

16 C 36 C 56 F   

17 B 37 D 57 F   

18 D 38 B 58 T   

19 C 39 A 59 F   

20 D 40 D 60 T   
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• Handle the answer form with care and do not write notes on it.   

• No marks are deducted for incorrect answers, so do not leave any 

questions unanswered. 
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invigilator before you leave the Examination Hall.   

• Insert your candidate’s number as given on your admission permit and 

any other particulars required on the answer form. 

• Ensure that you write the full and correct candidate’s number. 

• If you bring a calculator into the examination room, it must be a silent 
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INSTRUCTIONS TO CANDIDATES 
 

READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS 
 

Section A  
The questions 1 – 50 in this paper are numbered and four options follow each question. 
The options are labeled a,b,c,d. Only one of these options is correct. Select your answer 
for each question and indicate it on the answer form by filling in the appropriate box.  
Example:  
Employers’ liability insurance certificates are legally required to be kept for a  
minimum of … 

(a)  40 years from inception  (b) 50 years from inception  
(c) 40 years from expiry   (d) 50 years from expiry 

The answer is option (c). 
 
Section B   
Questions 51 – 60 are to be answered as either True (T) or False (F). Select your chosen 
option and indicate it on the answer form by filling in the appropriate box.  
 
Example:  
An employers’ liability insurance never expires. (True or False).  
The correct option is False (F).  
 
Section C  
Questions 61 – 75. This section contains three (3) case studies each followed by five 
questions. The case studies are not numbered and appear at the top of the page. Each 
of the five questions following a case study is numbered. Four options follow each 
question. The options are labelled, a, b, c, d. Only one of these options is correct or best. 
Select your answer for each question and indicate it on the answer from by filling in the 
appropriate box. 
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 – 50) 
1. … department is very important to the image and rating of an insurance company that it 

is called the shop window.  

(a) Underwriting    (b) Claims  (c) Reinsurance (d)  Investment 

 

2. In non-life insurance policies, which principle did the Marine Insurance Act 1906 affect 

in terms of legal aspect of insurance? 

(a) Proximate Cause   (b) Subrogation 

(c) Insurance interest   (d) Indemnity 

 

3. Mr. Nick purchased a large screen television for use in his main sitting room. On delivery, 

his personal assistant informed his insurance company to add it to the existing 

houseowner’s Insurance. The Electronics company unknown to them has insured the set 

as part of its sales promo for all buyers. In the event of a loss to the set in the course of 

carriage, which principle will come into play? 

(a) Betterment (b)  Subrogation (c)  Contribution   (d)   Insurable Interest 

 

4. The accident report form is very material in supplying the insurer with details of a loss. 

Where information is obtained over the telephone, the insurance company will send to 

the policyholder details as captured by way of … 

(a) statement of insurance  (b) invoice 

(c) enquiry follow up   (d) broking slip 

 

5. The accident report form will serve all except one of these purposes 

(a) Rate the vehicle  (b) Identify parties involved in the accident 

(c) Get to know the driver at the particular time   

(d) Ensure that the vehicle is insured by the insurer 

 

6. The reasonable care provision in the motor policy relates to … 

(a) safe driving/ adherence to traffic rules 

(b) payment of premium with a stated period 

(c) holding a liable third party accountable 

(d) keeping the vehicle in a roadworthy condition 

 

7. The disputes to be referred to arbitration are in respect of  … 

(a) acceptance of liability   (b) issues of quantum 

(c) bodily injury cases   (d) stolen but recovered theft cases 

 

8. The professional used by insurance companies to agree the method and cost of repairs 

with garages is a/an … 

(a) engineer (b) loss adjuster (c) superintendent (d) valuer 

 

9. Under normal circumstances, the maximum an insurer will pay for a total loss claim is 

… 

(a) sum insured    (b) invoice value 

(c) inception sum insured   (d) market value  

 

10. Where claims involving injuries are concerned, such should be acted upon within a 

specified number of … years from date of the accident.  

(a) 6   (b) 4   (c) 3   (d) 2  



11. Most insurance companies in Nigeria settle their claims within a month of the receipt of 

the discharge voucher. What is the maximum time frame allowed under the Insurance 

Act? 

(a) 45 days (b) 60 days (c) 90 days  (d)     120 days 

 

12. The exact amount that is required to pay claims expressed in percentage terms is … 

(a) homogeneous pool   (b) claims ratio 

(c) aggregate    (d) combined cost 

 

13. When talking about the combined operating ratio, … is not a constituent of it.  

(a)  dividends (b) claims  (c) expenses    (d)     commission 

 

14. The process undertaken by insurers to determine the amount to be charged for any risk 

introduced to them is … 

(a) segregation  (b) calibrating (c) rating (d)   evaluation  

 

15. Vehicles coming into the market newly are given advisory rating based on these criteria 

except … 

(a) manufacturer’s location  (b) performance of the vehicle 

(c) value of the vehicle   (d) cost of repairs 

 

16. For goods-carrying vehicles, insurers normally would operate … rating tables in relation 

to vehicle use? 

(a) 2  (b) 3  (c) 4  (d) 5  

 

17. Risk management is of universal application and also finds usefulness in fleet risks in the 

following scenarios except … 

(a)  turnover from logistics income  (b) adequate driver training 

(c) scheduled vehicle checks   (d) regular license checks 

 

18. When a fleet policy is moved to a new insurer, the holding insurer is under an obligation 

agreed by the market to give … years’ underwriting experience/history.  

(a)  2   (b) 3  (c) 4   (d) 5 

 

19. The booklet published by the department of transport and the health and safety executive 

to manage work related road safety focuses on all these elements except …  

(a) insurer   (b) driver  (c) vehicle  (d)     journey 

 

20. A situation in which there is only one rate for a particular type of risk without any 

prospect of earning or losing discounts is known as … 

(a) initial discount    (b) guaranteed NCD 

(c) accelerated NCD   (d) reversionary scale 

 

21. In discussing the rating of a branch of motor insurance reference was made to “book 

premium”. This class will this be referring to … 

(a) special type (b) fleet (c) motorcycle (d) road risk only 

 

22. The evidence of Road Traffic Act cover in motor policy is … 

(a) renewal endorsement    (b) receipt of premium payment 

(c) motor cover note   (d) prospectus of motor policy cover 



23. … is not true of the insurance cycle. 

(a) Profitability is high in a soft market  

(b) Rates comes up again during hard market 

(c) Many companies fail during soft market period 

(d) During period of profits, many more companies enter 

 

24. There has to be a minimum number of vehicles owned by a policyholder for it to be 

underwritten as a “fleet” risk. This number usually will be … 

(a) 20  (b) 15  (c) 10  (d) 5 

 

25. Road risks policy can be rated on all these except … 

(a) value of the cars (b)   named drivers (c)points basis (d) trade plate 

 

26. Software houses offer information distribution in terms of … 

(a) car registration   (b) premium/ rate quotation 

(c) claims/ theft statistics   (d) uninsured vehicle information 

 

27. Direct sell intermediaries have increased their scale of operation taking the concept of 

“own branding” and they perform the following roles except … 

(a) process claims    (b) handle underwriting  

(c) pay claims   (d) engage in profit sharing arrangements 

 

28. The most predominant channel by which most financial and personal insurance products 

are sold in contemporary times is … 

(a) agency  (b) telephone  (c) internet (d)  cable TV 

 

29. The proof that a motorist traveling across borders in the AU has the minimum legal 

requirement for third party liability is … 

(a) international passport   (b) brown card 

(c) valid visa    (d) international driving license 

 

30. ICOBS classify customers into two, one of which is consumers and the other is … 

(a)  commercial customer   (b)  prospective clients 

(c)  patrons     (d)  business partners 

 

31. The licensing of motor vehicles is decentralised on the basis of … in Nigeria.  

(a) Local Government   (b) Regional Blocks  

(c) Federal Constituencies  (d) State Governments 

 

32.  … is not a function of NAICOM.  

(a)  To approve standards, conditions and warranties for policies  

(b) To act as adviser on insurance matters to the Federal Government  

(c) To approve rates of commission for all classes of insurance 

(d) To determine the number of insurers to underwrite a risk 

 

33. … information is not statutorily required on the motor certificate of insurance.  

(a) Sum insured    (b) Registration number 

(c) Limitation as to use   (d) Name of policyholder 

 



34. There are two types of certificates in Motor Insurance. The “A” certificate specifies the 

registration number but the other which does not is known as … certificate.  

(a) anonymous  (b) omnibus  (c) loose   (d) blanket 
 

35. Regulations prescribes that details of the certificate of motor insurance must be retained 

for … months. 

(a) 6   (b) 12  (c) 15   (d) 18  
 

36. The section of the policy that customises the policy booklet to provide an outline of the 

cover given and personalises it is called the … 

(a) proposal form     (b) schedule (c)   cover note (d)   signature clause 

 

37. The standard medium by which the policyholder provides information upon which the 

risk is rated and the premium is calculated is called the … 

(a) certificate of insurance    (b) prospectus   (c)   schedule  (d)     proposal form 

 

38.  The statement of facts is normally issued to the insured by the … 

(a) police  (b) insurer  (c) broker  (d) surveyor 

 

39. … section of the policy outlines the cover offered by the policy or a section of it.  

(a) Preamble (b)   Condition    (c)   Operative Clause     (d) Service Information 

 

40. … is not an absolute exclusion under the motor policy. 

(a) War (b) Riot    (c) Earthquake (d) Radioactive Contamination 

 

41. The condition inserted in the policy that gives the insured the right to proceed against a 

negligent third party from the outset of the claim is … 

(a) average (b) betterment  (c) cooperation (d)   subrogation  

 

42. If a claim is accepted for loss or damage but the amount to be paid cannot be agreed, it is 

referred … 

(a) the Magistrate Court   (b) for arbitration 

(c) to the regulatory body   (d) to the trade association 
 

43. In a situation where the insurer receives claims in excess of its liability under the policy, 

it could pay the insured the amount of indemnity provided by the policy, leaving the 

insured to settle any amount in excess of the indemnity provided under the policy. This 

situation is called the …  

(a) agreed value    (b) reinsurance clause  

(c) liability eviction clause  (d) limit of indemnity exceeded 
 

44. The warning that the law requires every insurer in Nigeria to put on their proposal forms 

that an insurance agent who completes an application or proposal form on behalf of the 

insured is deemed to have done so as the agent of the proposer relates to the insurance 

duty of … 

(a) notification (b)  insurable interest    (c)   proximate cause   (d)   material fact 
 

45. An “Enabling Act” can be said to … 

(a) allow the police to fasten the prosecution procedure 

(b) allow an industry to enable its professionals decide cases 

(c) give the courts powers to make new law 

(d) give specified officers of the State power to issue regulations 



46. Following the recent review of motor insurance premium by NAICOM, … is the new 

third party property damage limit prescribed for a private motor policy with effect from 

January 2024. 

 (a) N1.5million (b)    N2.0million   (c)     N2.5million    (d)   N3.0million 
 

47. The following statements are true of the emergency treatment benefit in every motor 

policy except … 

(a) the payment must be made irrespective of who is to blame 

(b) the fee has to be paid by the motorist (or their insurer) 

(c) the payment reduces the NCD entitlement one step  

(d) the insured person can be anyone – in or out of the vehicle 
 

48. The rehabilitation period commences from the date of … 

(a) committal of offence    (b) arrest by the police 

(c) first arraignment in court   (d) conviction 
 

49. The insurer takes sufficient steps to draw the terms to the insured’s attention so that the 

insured is given reasonable opportunity to know the disadvantageous terms that exist 

before entering into the contract. This action is called … 

(a) caveat emptor    (b) transparency requirement 

(c) Prospectus    (d) contracting in 
 

50. The ECOWAS Brown card is used in … 

(a) Central Africa    (b) African continent as a whole 

(c) Southern Africa   (d) West Africa  

 

SECTION B – ATTEMPT ALL QUESTIONS (Questions from 51 to 60)  
Answer True (T) or False (F)  
 

51. The major intermediary for the marketing at motor insurance products in the insurance 

industry in Nigeria are the individual agents.       

52. Motor vehicle licensing in Nigeria is vested in the Federal Road Safety Corps.   

53. The claims service is of utmost importance to the policyholder and is thus described as 

the “shop window”.          

54. The need that the subject matter exists and that they will benefit from its continued 

existence relate to the principle of indemnity.       

55. Insurers will always endeavor to return the policyholder to the position they were in prior 

to the accident. This relates to the principle of indemnity.     

56. A policyholder lodged a claim that his vehicle was damaged by a negligent third party 

who accepted liability and volunteered his insurance cover details. The policyholder’s 

insurer repaired their insured’s car and sent the bill to the third-party’s insurer for 

reimbursement. This is contribution at work.        

57. The accident report form and the statement of insurance collated by the insurer from 

telephone report conversation by a policyholder serve the same purpose of conveying 

accident details to the insurer.        

58.  If the claim is in anyway fraudulent because the quantum was greatly exaggerated or 

forged documents were indemnity for that claim.       

59. Claims for damage to the policyholder’s vehicle can only proceed if cover granted is on 

either third-party fire and theft or comprehensive.      

60. The satisfaction note is used at the inception of the insurance cover to signify that the 

vehicle is worthy to be accepted for comprehensive cover.     

  



SECTION C – ATTEMPT ALL QUESTIONS (Questions 61 – 75) 
Read the cases below carefully and answer the questions which follow. 
The Managing Director of EFG Limited approached you that the company has a sizeable number 

of vehicles used in the course of their operations. The company is meticulous in the maintenance 

of their vehicles and wishes to take the opportunity of benefitting from their good claims record. 

They wish to know about fleet policy which they believe they can have for their 75 vehicles. 

 

61.  What is the minimum number of vehicles that can be accepted for fleet? 

(a)  25   (b)  20  (c) 10  (d) 5  

 

62. How many categories of fleet are there? 

(a) 3  (b) 4  (d) 5  (d) 6 

 

63.  When a new Insurer is taking over a fleet policy, how many years’ claims experience is 

the current insurer obliged to give under market agreement? 

(a) 7 years  (b) 5 years  (c) 3 years  (d) 2 years 

 

64.  The premium calculation is normally based on … 

(a) tariff     (b) own experience   

(c)  agreed value method   (d) company claims experience 

65.  All these are the attractions of fleet policy arrangement except … 

(a) Premium is usually substantial and Insured seeks value for money 

(b) The claims procedure does not follow the insurer’s normal investigative 

procedures and claims are paid gross as presented by the policy holder. 

(c) The range of cover offered may be greater than would otherwise be available 

(d) A good claims history is reflected in the premium charged and this is the main 

rating factor. 

 

The policy document is generally accepted as the evidence of the contract of insurance. In 

motor insurance, it is also a necessity that a policy document must be issued.  

 

66. The section of the policy that indicates the documents that comprise the contract between  

the policyholder and the insurer is called the … 

(a) definitions (b)   preamble       (c)   general conditions    (d) general exclusions 

 

67. Items such as radio, CD player, and floor mats are regarded as … 

(a) spare parts (b) supplements (c) attachments (d)     accessories  

 

68.  Excesses are a normal part of a motor contract and can be found in … part of the policy  

document. 

(a) schedule  (b) preamble (c) heading (d)  exclusions 

 

 

69.  The amount that it would cost to replace a vehicle with one of similar make, model,  

condition and mileage is known as … 

(a) total value (b) cash in lieu (c) market value       (d)  contribution 

 

70. Uninsured loss recovery is provided under … 

(a)  business interruption policy  (b) all risk policy 

(c) legal expenses policy      (d) occasional business use policy 



 

Motor insurance as a contract involves the combination of more than one document from 

inception to completion. What are these documents and their importance? 

 

71.  The type of certificates where vehicles are referred to but not specifically identified are 

called … certificates.   

(a) neutral  (b) marine  (c) warranty  (d) blanket  

 

72.  The document produced by the insurer through which facts relating to the subject matter 

of insurance is made available is … 

(a) proposal form     (b) discharge form  

(c) prospectus    (d) policy booklet 

 

73.  Motor insurance is a special type of cover because of the Road Traffic Act provisions. A 

policy of motor insurance is of no effect until a … is delivered to the policyholder.  

(a) proposal form    (b) supplementary form  

(c) motor vehicle certificate   (d) offer 

 

74.  If a claim is accepted for loss or damage from the policyholder but the amount to be paid 

is in dispute, the issue is referred to as …  

(a)    court     (b)    arbitration      (c)    trade association  (d)    Regulator 

 

75.  The alternative to the proposal form is …  

(a) notification condition   (b) proposal form  

(c) discharge form   (d) statement of facts  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Chief Examiner’s Comment 

The overall performance reflects a relatively average pass rate of 36.99%, with Lagos and Abuja 

recording the highest number of successful candidates. While not definitive, this may be 

attributed to their access to lectures that complement their personal study efforts. 

 

It may be beneficial to advise candidates in other regions to take advantage of similar 

opportunities, especially as some tuition providers now offer virtual lectures. 

  

Comments on Overall Performance 

The performance was below 40% and can be better. Candidates need to study more.  

 

Suggestion(s) on Improvement(s) (if any) 

Candidates are advised: 

(i) to start preparations early;  

(ii) set aside specific time during the week and weekend for study;  

(iii) back up by attending tuition classes.  
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for each question and indicate it on the answer form by filling in the appropriate box.  
Example:  
Employers’ liability insurance certificates are legally required to be kept for a  
minimum of … 

(a)  40 years from inception  (b) 50 years from inception  
(c) 40 years from expiry   (d) 50 years from expiry 

The answer is option (c). 
 
Section B   
Questions 51 – 60 are to be answered as either True (T) or False (F). Select your chosen 
option and indicate it on the answer form by filling in the appropriate box.  
 
Example:  
An employers’ liability insurance never expires. (True or False).  
The correct option is False (F).  
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 – 50) 
1. "Excess Clause" in an insurance policy is defined as … 

(a) a limit placed on total payouts 

(b) a refund process for unused coverage 

(c)  a feature that guarantees additional coverage for natural disasters 

(d)  the amount the policyholder must contribute before a claim is paid  
 

2. NAICOM play the role of … as it relates to protecting Nigerian policyholders.  

(a)  drafting exclusive policies for insurers 

(b)  arbitrating disputes between policyholders and insurers 

(c)  regulating compliance and enforcing claims processing guidelines 

(d)  increasing taxes on insurance companies 
 

3. … scenario will typically be excluded under household insurance.  

(a)  Theft after a home break-in (b)  Structural damage from wear and tear 

(c)  Fire damage to personal property (d)  Water damage from a burst pipe 
 

4.  … represent the term "sum insured" in an insurance policy.  

(a)  The monthly premium paid by the policyholder 

(b)  The maximum amount payable in a claim 

(c)  A bonus paid for no claims made  

(d)  The actual value of damaged items 
 

5.  Calculating of premiums by an insurer for household insurance is … 

(a)  based on the risk factors and value of the property  

(b)  based solely on the policyholder's credit score 

(c)  using a flat rate for all policyholders 

(d)  based on the insurer’s annual profits 
 

6.  In household insurance, "policy exclusion" means …  

(a)  risks or damages not covered by the policy 

(b)  optional add-ons for extended coverage 

(c)  coverage for pre-existing damages 

(d)  an additional fee charged for certain claims 
 

7.  "All-risk insurance" in the context of household policies can be explained as … 

(a)  coverage for only fire and flood risks 

(b)  coverage for specific named perils 

(c)  comprehensive coverage for most risks except exclusions 

(d)  insurance that has no exclusions at all 
 

8.  … is the main benefit of a "replacement cost" coverage policy? 

(a)  Covering the cost to replace items with new equivalents  

(b)  Reimbursement of the depreciated value of damaged items 

(c)  Guaranteeing that s no claims will be denied 

(d)  Including coverage for unrelated damages 
 

9.  "Deductible" is included in household insurance policies because it … 

(a)  limits the liability of the insurer 

(b)  guarantees lower premiums for policyholders 

(c)  discourages policyholders from filing minor claims 

(d)  excludes certain types of claims entirely 

 



10.  "Underinsurance" in household policies is … 

(a)  having coverage that exceeds the value of insured property 

(b)  insuring property for less than its actual value 

(c)  a policy with no deductible 

(d)  a specialised policy for high-value homes 
 

11.  "Fire insurance" is designed to cover … 

(a)  damage caused by intentional fire by the policyholder 

(b)  losses from uninsured natural disasters 

(c)  structural wear and tear over time 

(d)  loss or damage caused by accidental fire  
 

12.  The purpose of "accidental damage coverage" is to … 

(a)  cover intentional damage to the property 

(b)  insure the policyholder against natural disasters 

(c)  cover sudden, unintentional damages to the home or its contents 

(d)  waive deductibles for specific claims 
 

13.  "Proof of ownership" is important when filing claims because it … 

(a)  speeds up the claims approval process 

(b)  prevents disputes over unrelated damages 

(c)  verifies the insured value of stolen or damaged items 

(d)  eliminates the need for a deductible 
 

14.  "Wear and tear" may not be covered by household insurance because it … 

(a)  is considered an intentional act by the policyholder 

(b)  results from normal use and is excluded from most policies 

(c)  is too expensive for insurers to cover 

(d)  only applies to very old properties 
 

15.  The meaning of "actual cash value" in a policy is … 

(a)  reimbursement for the cost of replacing items at their current market value 

(b)  payment for the original purchase price of items 

(c)  coverage for the sentimental value of items 

(d)  the cost of repairing items regardless of depreciation 
 

16.  "Co-insurance" in household insurance is … 

(a)  a feature that splits costs between two insurers 

(b)  a clause requiring the policyholder to cover a portion of the loss 

(c)  an optional benefit for premium discounts 

(d)  insurance for multiple properties under one policy 
 

17.  In an insurance policy, the phrase "premium loading" refers to …  

(a)  an additional charge for high-risk policies 

(b)  a discount applied for no claims made 

(c)  the process of filing a claim     (d)  a penalty for filing multiple claims 
 

18.  "Grace period" in an insurance policy is the … 

(a)  period when the policyholder cannot file claims 

(b)  period when the insurer assesses claims 

(c)  time allowed after the premium due date to avoid policy cancellation  

(d)  time required for claim approval 

 



19.  "Tenant insurance" typically cover … 

(a)  protection against landlord’s property damage 

(b)  personal belongings and liability inside a rented property 

(c)  structural repairs to the rental property 

(d)  damage to the property owned by the landlord 

 

20.  In insurance context, the term "underwriting" means the … 

(a)  process to dispute claims 

(b)  act of settling claims 

(c)  method used to determine claim payouts 

(d)  process of setting premiums based on risk factors  

 

21.  The "total loss" clause in household insurance is a clause that … 

(a)  limits claims based on depreciation 

(b)  applies only to fire-related claims  

(c) guarantees full reimbursement if the home is destroyed 

(d)  helps policyholders recover from a partial loss 

 

22.  "Water damage" coverage generally include … 

(a)  damage caused by flooding from external sources 

(b)  all water-related incidents regardless of the cause 

(c)  damage from natural weather events like hurricanes 

(d)  damage caused by accidental overflow, leaks, or burst pipes 

 

23. "Riders" in insurance policies are … 

(a)  standard terms and conditions of the policy 

(b)  sections of the policy that explain exclusions 

(c)  additional coverages or benefits that modify a policy  

(d)  refunds provided for unused premiums 

 

24. The major benefit of fire insurance under Nigerian law is … 

(a)  mandatory coverage for public buildings ensures property safety 

(b)  premiums are subsidised by the government 

(c)  covers losses due to natural disasters 

(d)  eliminates the need for liability insurance 

 

25. "Flood exclusion" in household insurance policies is a … 

(a) waiver that reduces premiums in flood-prone areas 

(b)  policy feature that automatically includes flood coverage 

(c)  special coverage for properties at risk of flooding 

(d)  clause that excludes coverage for damages caused by floodwater  

 

26. "Loss of rent" coverage in household insurance is coverage for … 

(a)  legal fees related to renting disputes 

(b)  damages to a tenant's personal property 

(c)  rental income loss due to property damage 

(d)  the homeowner’s income tax payments 

 

 



27. "Replacement cost" in household insurance means the … 

(a)  amount needed to repair the property after depreciation 

(b)  cost to replace the damaged property with new items of similar quality 

(c)  cost of hiring contractors for repairs 

(d)  original cost of the property before the damage 

 

28. "Exclusion", in an insurance policy, means a … 

(a)  feature that adds extra coverage to the policy 

(b)  list of perils or risks that are not covered under the policy 

(c)  discount offered to policyholders with low-risk properties 

(d)  clause that automatically extends coverage after a claim 

 

29. “Moral hazard" in insurance refers to the … 

(a)  risk of loss due to improper maintenance by the policyholder 

(b)  risk of claims being denied due to false information 

(c)  tendency of insured individuals to take more risks because they are covered 

(d) potential for the insurer to default on paying claims 

 

30. "Floating policy" work in household insurance as it … 

(a)  applies to specific items that are frequently moved, like jewelry or artwork 

(b)  covers all types of home-related damages 

(c)  is valid for a set period of time and needs to be renewed frequently 

(d)  covers only the structure of the home 

 

31.  In household insurance policy, "storm damage" typically cover damages caused by…  

(a)  flood    (b) pests or insects 

(c)  civil disturbances  (d) severe wind, hail, and rain  

 

32. "Personal accident" coverage help in household insurance by ,,, 

(a)  covering medical expenses for pets 

(b)  covering accidental damage to the property 

(c)  compensating for losses from fire-related accidents only 

(d)  providing compensation for accidental injuries or death of the policyholder or 

family members 

 

33. A "standard home policy" is typically designed to cover … 

(a)  personal belongings, structural damage, and liability risks 

(b)  only the structure of the home (c)  only the contents inside the house 

(d)  only natural disaster-related damage 

 

34.  The primary goal of "fire damage insurance" in household policies is to … 

(a) cover the damage caused by fires within the home 

(b)  cover water damage caused by sprinklers during a fire 

(c)  provide legal representation during fire-related lawsuits 

(d)  cover fire damage to neighboring properties 

 

35. "Building insurance" differ from "contents insurance" in that … 

(a)  building insurance covers personal property, while contents insurance covers  

the structure of the home 

(b)  building insurance covers the physical structure of the property, while contents  



insurance covers personal belongings   

(c)  both policies cover the same risks 

(d)  building insurance is only available for commercial properties while contents  

insurance is available to all forms of properties.  

 

36. In household insurance, a "flood risk" assessment means …  

(a)  an evaluation of the likelihood that a property will be affected by flooding 

(b)  a review of the policyholder’s past flood-related claims 

(c)  a requirement to include flood insurance in the policy 

(d) a process of offering coverage only in flood-prone areas 

 

37. "Replacement value" insurance means insurance that … 

(a) pays the policyholder the current market value of their property 

(b)  covers the original cost of the property 

(c)  pays the cost to repair or replace property with similar quality and condition 

(d)  only covers repairs to damaged property 

 

38. In household insurance, "personal property" refer to the …   

(a)  physical structure of the property 

(b)  personal belongings inside the home, such as furniture, electronics and  

clothing 

(c)  exterior features of the property, like fences and gardens 

(d)  homeowner’s legal obligations 

 

39. The purpose of a "home insurance inventory" is to … 

(a)  calculate the cost of premiums 

(b)  verify the property’s market value for sale 

(c)      document and value all personal belongings in the home for insurance purposes 

(d)  monitor monthly utility usage in the home 

 

40. "Flood insurance" is designed to cover damage caused … 

(a)  by hurricanes and severe windstorms 

(b)  by accidental water leaks from plumbing 

(c)  by rising water, heavy rainfall, or river overflow  

(d)  to the personal property from fire or theft 

 

41. In household insurance, a "deductible" is the …  

(a)  maximum amount the insurer will pay for a claim 

(b)   total value of personal property covered by the policy 

(c) amount of premium the insurer discounts for safe property maintenance 

(d)  amount the policyholder must pay before the insurance company starts paying  

for a claim 

 

42. "Experience rating" in insurance underwriting is … 

(a)  adjusting premiums based on the insured’s claims history 

(b)  setting rates according to geographic risk factors 

(c)  excluding high-risk individuals from standard policies 

(d)  offering discounts for claims-free periods  

 



43. A "claims-free bonus" in household insurance is a … 

(a)  premium increase for filing a claim 

(b)   bonus payout given to policyholders after a claim 

(c)  refund on premiums paid at the end of the policy period 

(d)  discount or bonus for policyholders who have not filed any claims during a  

policy period 

 

44. In household insurance, "home emergency” offers coverage for …  

(a)  home repairs related to wear and tear 

(b) damage caused by home emergencies like burst pipes, heating failure, or  

electrical problems   (c) for emergency medical expenses 

(d)  insurance against burglary or theft 

 

45. In household insurance, "subsidence" refers to … 

(a)  damage caused by excessive rain 

(b)  the sinking or settling of the ground beneath the property, leading to damage 

(c)  the impact of winds on the structure of the house 

(d)  damage caused by earthquakes 

 

46. In household insurance, "personal injury" coverage includes injuries … 

(a) sustained by the policyholder during home repairs 

(b)  resulting from natural disasters like earthquakes 

(c)  sustained by the homeowner while traveling 

(d) caused to third parties on the insured property 

 

47. In household insurance, "policy period" means the …   

(a)  time frame during which a policyholder can file a claim 

(b)   waiting period before a claim is paid out 

(c)  duration of time the policy is valid, typically one year 

(d)  time before the policyholder must renew their insurance 

 

48. In household insurance, "wear and tear" means …  

(a)  coverage for the gradual deterioration of property due to aging and regular use 

(b)  coverage for damages caused by accidents 

(c)  the process of repairing damaged property 

(d)  a special policy feature to protect appliances 

 

49. In household insurance, "excessive heat" cover means …   

(a)  damage caused by fire or overheating electrical appliances 

(b)  coverage for high-temperature damage to the roof and foundation 

(c)  dmage caused by excessive heat due to external factors, such as heat waves 

(d)  damage caused by air conditioning system malfunctions 

 

50. … is the meaning of "deductible" in a home insurance policy.  

(a)  The total amount of the claim the insurance company will cover 

(b)  The policyholder’s share of the financial responsibility for the damages before  

insurance kicks in 

(c)  The amount the policyholder will be refunded if they do not file a claim 

(d)  The cost of regular home maintenance 

 



SECTION B – ATTEMPT ALL QUESTIONS (Questions from 51 to 60)  
Answer True (T) or False (F)  
 

51. Household insurance policies typically include liability coverage for third-party injuries 

on the property. 

52. A standard household insurance policy includes coverage for damages caused by 

earthquakes. 

53. Flood damage is automatically included in household insurance policies in Nigeria. 

54. Household insurance policies cover damages caused by electrical faults in the home. 

55. Theft is covered under most household insurance policies in Nigeria. 

56. Household insurance policies automatically renew each year unless the policyholder opts 

out. 

57.  Liability insurance coverage in household policies only applies to accidents caused by 

the homeowner’s negligence. 

58.  Household insurance policies typically include coverage for personal belongings, such as 

furniture and electronics. 

59. Accidental damage to personal property inside the home is covered under a standard 

household policy. 

60.  Household insurance policies automatically cover all the contents of a property, 

regardless of their value. 

 
SECTION C – ATTEMPT ALL QUESTIONS (Questions 61 – 75) 
Read the cases below carefully and answer the questions which follow. 
The Bennetts, a family of four, were on vacation abroad when their youngest child fell ill. Their 

travel insurance policy included medical coverage, ensuring that hospital and treatment costs 

were covered. The insurer arranged for a medical evacuation back to their home country. 

61. What is commonly included in travel insurance policies? 

(a)  Coverage for lost baggage and medical emergencies 

(b)  Coverage for vehicle repairs  (c)  Home security monitoring 

(d)  Pet care during travel 

 

62. What service did the Bennetts' insurer provide beyond cost coverage? 

(a)  Offered a discount on the vacation (b) Arranged medical evacuation 

(c)  Covered hotel upgrades   

(d) Paid for additional family members to travel 

 

63. How can travellers ensure effective use of their travel insurance? 

(a)  Read the policy details and carry emergency contact numbers 

(b)  Only travel within their home country (c)  Avoid filing small claims 

(d)  Wait until they return home to report incidents 

 

64. What could lead to the denial of a medical claim under travel insurance? 

(a)  Pre-existing medical conditions not disclosed     (b) Taking over-medications  

(c)  Falling ill due to food poisoning 

(d)  Incurring treatment costs below the deductible 

 

65. What additional benefit might a comprehensive travel insurance policy offer? 

(a)  Coverage for political evacuation (b)    Free airline tickets for future travel 

(c)  Monthly rebates on premiums (d)    Investment options. 

 



Sophia rented an apartment that was destroyed by a fire caused by an electrical fault. She had 

renters insurance, which covered her personal belongings and provided temporary 

accommodation until she could find a new place to live. 

 

66. What does renters insurance typically cover? 

(a)  Damage to the building structures  

(b)   Personal belongings and liability protection 

(c) Medical expenses for unrelated injuries (d) The landlord’s property 
 

67.  What additional benefit did Sophia’s policy provide? 

(a) Payment for a new apartment  (b)  Temporary accommodation 

(c)  Coverage for the building’s repairs 

(d) Replacement of the faulty electrical wiring  
 

68. How can tenants determine the adequacy of their renters insurance coverage? 

(a)  Only consider the cost of premiums 

(b) Inventory their possessions and estimate replacement costs 

(c)  Purchase the cheapest policy available 

(d)  Avoid coverage for personal belongings 

 

69. Under what circumstance might Sophia’s claim be denied? 

(a)  If the fire was due to her negligence  

(b) If the fire was caused by natural disasters 

(c)  If her belongings were damaged  (d)    If she provided proof of loss 

 

70. What additional coverage might a tenant consider for comprehensive protection? 

(a)  Auto insurance  

(b)  Liability coverage for injuries occurring on the property 

(c)  Building structure insurance   (d)  Life insurance 

 

The Peterson family’s home was severely damaged in a flood. Although they had home-owners 

insurance, flood damage was not covered under their standard policy. Luckily, they had also 

purchased a separate flood insurance policy, which covered repairs to the foundation and 

replacement of damaged appliances. 

 

71. Why wasn’t flood damage covered under the Petersons’ home-owners policy? 

(a)  Flood coverage is typically excluded from standard policies 

(b)  They lived in a non-flood-prone area 

(c)  The damage was minor  (d) They filed the claim too late 

 

72. What does flood insurance typically cover? 

(a)  Only structural damage to the property 

(b)  Structural damage, foundation repairs, and some personal belongings 

(c)  Vehicle damages caused by flooding      (d) Temporary accommodation costs 

 

73. How can homeowners determine if they need flood insurance? 

(a)     Check their region’s flood risk and coverage exclusions in their standard policy 

(b)  Assume it is included in all policies   (c)  Avoid flood-prone areas entirely 

(d) Only consider it if they live near a river 

 

74. What could lead to a denial of a flood insurance claim? 



(a)  Filing a claim promptly (b) Damages not directly caused by flooding 

(c)  Flooding caused by a burst pipe 

(d)  Pre-existing coverage for natural disasters 

 

75. What additional policy might complement flood insurance for comprehensive protection? 

(a)  Earthquake insurance   (b) Life insurance 

(c)  Auto insurance   (d) Cyber liability insurance  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Chief Examiner’s Comment 

The analysis of the result indicated that 75% of the candidates who presented themselves for the 

examination passed, which is commendable considering the past experiences.  

 

Comments on Overall Performance 

The overall performance is good. 

 

Suggestion(s) on Improvement(s) (if any) 

The Institute should continue to implore candidates to study ahead of time. 
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1 D 21 C 41 D 61 A 
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READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS 
 

Section A  
The questions 1 – 60 in this paper are numbered and four options follow each question. 
The options are labeled a,b,c,d. Only one of these options is correct. Select your answer 
for each question and indicate it on the answer form by filling in the appropriate box. 
Example:  
A private healthcare provider that reinvests any profit made on better health and care 
services is known as a: 
 

(a) friendly society  (b) mutual society 
(c) proprietary insurer  (d) provident insurer 

The answer is option (d) 
 

Section B   
Questions 61 – 85 are to be answered as either True (T) or False (F). Select your chosen 
option and indicate it on the answer form by filling in the appropriate box.  
 
Example:  
A medical insurance cover will not pay for hospitalisation. (True or False).  
The correct option is False (F).  
 
Section C  
Questions 86 – 100. This section contains three (3) case studies each followed by five 
questions. The case studies are not numbered and appear at the top of the page. Each 
of the five questions following a case study is numbered. Four options follow each 
question. The options are labelled, a, b, c, d. Only one of these options is correct or best. 
Select your answer for each question and indicate it on the answer form by filling in the 
appropriate box.  
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 – 60) 
1. Which of these serves as provider of Workmen Compensation of Insurance in Nigeria? 

(a) NHIS  (b) HMO  (c) NSITF  (d) Government 
 

2. In Nigeria, primary healthcare is the responsibility of … 

(a) State Government   (b) Council Wards 

(c) Local Government   (d) Federal Government 
 

3. In their annual survey of the health insurance market, Laing Buisson estimated that at 

the start of Year 2017, … million subscribers had health insurance cover. 

(a) One  (b) Three  (c) Five  (d) Six 
 

4. PMI pays for treatment …. 

(a) As an in-patient   (b) As an out-patient 

(c) As a day patient   (d) All of the above 
 

5. The personal accident policy will cover the insured per day for … hours. 

(a) 12  (b) 24  (c) 48  (d) 8 
 

6. In Critical Illness (CI) the policy will … 

(a) pay lumps on diagnosis of cancer (b) Disability claim 

(c) Travel allowance   (d) Hospital bills for cancer treatment 
 

7. Vulnerable group social health insurance products will cover all these except … 

(a) Pregnant Women    (b) Beggars   

(c) Physically Challenged Persons (d) Armed Forces Members 

 

8. Which of these dates back to the late nineteenth century? 

(a) Private Medical Insurance  (b) National Health Scheme 

(c) Third Party Administration  (d) Workmen Compensation  
 

9. Another name for basic policies is … policies.  

(a) comprehensive (b) mid-range  (c) international  (d) budget 

 

10. The Four-or-Six-Week Policies are forms of … policies.  

(a) budget   (b)  international        (c)   mid-range  (d)  comprehensive  
 

11. Ajalenkoko has an excess of N1,000.00 on his medical policy and he incurred a medical 

bill of N2,800.00 for a treatment, how much will the insurer pay for the treatment? 

(a)  N100.00 (b) N1,000.00 (c) N1,800.00 (d) N2,800.00 

 

12. … schemes run along similar lines to cost plus schemes. 

(a) Self insured (b) Risk share (c) Fully insured (d) Cost plan 

 

13.  Which of these is not a form of Group PMI? 

(a) Large Group Schemes   (b) Middle Group Schemes 

(c) Affinity Scheme   (d) Small Group Schemes 
 

14. The assessment of risk for an individual is based on all these except … 

(a) age (b) existing medical condition (c) income    (d) marital status 

 



15. The insurer has a duty of disclosure to the insured. This is a statement of fact and is also 

contained in Section………. of the Insurance Act 2003 in Nigeria.  

(a) 54   (b) 55  (c) 68  (d) 69 
 

16. Which of these is not an objective of the Employee Compensation Act 2010? 

(a) To provide for fair and adequate assessments for employers 

(b) To provide for an open and fair system of guaranteed and adequate compensation 

for all employees 

(c)    To pay the retirement benefits to all staff whose company did not put such in place  

(d) To provide rehabilitation to employees with work disability 
 

17.  Which of these is not a reinsurance benefit to health insurer? 

(a) Capital     (b) Medical Treatment 

(c) Product Design   (d) Stop Loss 

 

18. The name for choosing to have treatment abroad in the lowest cost country offering a 

similar quality is health … 

(a) arbitrage (b) financing (c) tourism (d) cover 

 

19.  The PMI policy will not be cancelled if the insured … 

(a) dies     (b) is sick   

(d) fails to pay the premium  (d) relocate abroad 
 

20. An amount which the insured will bear for each and every loss is called a or an … 

(a) excess  (b) franchise (c) limit  (d) indemnity 
 

21. Treatment that does require a patient to stay in hospital overnight is called … 

(a) day case treatment   (b) complementary therapies 

(c) in-patient treatment   (d) prosthesis 

 

22.  Before the NHS was established in 1948, the rich tended to … 

(a) borrow to fund their health care (b) contribute to fund their health 

(c) the state fund it for them  (d) fund it by themselves 
 

23. Which of these is not an objective of the Employee Compensation Act 2010? 

(a) to provide for an open and fair system of guaranteed and adequate compensation 

for all employees 

(b) to pay the retirement benefits to all staff whose company did not put in place such 

(c) to provide rehabilitation to employees with work disability 

(d) to provide for fair and adequate assessments for employers 
 

24.  The principal differences between National Health Service and the Private Healthcare 

System will include all except … 

(a) the time spent waiting to be treated and choice regarding when to be treated 

(b) the choice of facilities 

(c)  the private sector allows a complete choice of specialist 

(d)  the private sector are not allowed to use technologies not available at the NHS 
 

25. Which of these is non-essential surgery that will change a person’s appearance? 

(a) PMS     (b) Emergencies   

(c) Complimentary medicine  (d) Cosmetic surgery 

 



26.     Which of these is not an advantage from getting treatment from the private medical sector? 

(a) Less time waiting for operations (b) Choice of consultant 

(c) Free medical treatment  (d) Choice of hospital 
 

27. Which of these is not a criterion for the provident insurers? 

(a) Are not profit-making   (b) Have shareholders 

(c) Count all their operating surplus as part of their reserves 

(d) Are equally unable to attract tax relief for any losses 
 

28. Which of these is the largest provident association? 

(a) AXA  (b) NHS  (c) BUPA  (d) HSA 

 

29. Which of these is not a reinsurance benefit to health insurer? 

(a) Capital     (b) Stop loss  

(c) Product design    (d) Medical treatment 
 

30. A growing proportion of private medical schemes are now run on behalf of employers 

for their employees, by … 

(a) third-party administrator  (b) health and dental cash plans 

(c) national health service  (d) private medical insurance  
 

31.  According to Agusto & Co, what percentage of Nigerians have health insurance?  

(a) 1 %  (b) 3%  (c) 5%  (d) 7.5% 

 

32. Which of these is not a benefit of the Augsto & Co report? 

(a) Provides information on the health insurance industry 

(b) Examines the industry’s size, structure and competitive profile of operators 

(c) Reviews the financial condition of operators 

(d) pay for the treatment of the identified insureds under the scheme 

 

33. The medical insurance market is divided into three categories, which does not include … 

(a) individual paid   (b) indemnity paid groups 

(c) company paid   (d) affinity or voluntary employee-paid groups 

 

34. When the employers decide to pay for healthcare treatment for their employees as these 

costs arises, rather than use insurance, is called … 

(a) self-funded schemes   (b) health trusts 

(c) health and dental cash plans  (d) national health service 

 

35. Which country spends the most amounts on healthcare? 

(a) USA  (b) Japan  (c) Spain  (d) Ireland 

 

36.  An international medical insurance policy will not cover … 

(a) home nursing    (b) surgeons’ fee 

(c) all expenses for in-patient day patient (d) None of the above 

 

37. Which of these is not a rating factor in travel insurance? 

(a) age     (b) income   

(c) countries to be visited   (d) the length of cover required 

 



38. The name for choosing to have treatment abroad in the lowest cost country offering a 

similar quality is called health … 

(a) tourism (b) financing (c) cover  (d) arbitrage 
 

39. The private medical insurance is also known as … 

(a) Capitation    (b) Third Party Administrator 

(c) Medical Insurance   (d) National Health Service 

 

40. An amount which the insured will bear for each and every loss is called … 

(a) limit  (b) franchise (c) excess  (d) claim 

 

41.  … is a disease, illness or injury that is likely to respond quickly to treatment which aims 

to return you to the state of health you were in immediately before suffering the disease, 

illness or injury, or which leads to your full recovery. 

(a) Acute condition   (b) Chronic condition 

(c) Severe situation   (d) Specialist situation 

 

42. PMI pays for treatment as a/an … 

(a) in-patient (b) day patient (c)   out-patient    (d) all of the above 

 

43. The PMI policies cover … 

(a) private consultations with a GP (b) cosmetic surgery 

(c) pre-existing conditions   

(d) illness or injury which the customer has already suffered 

 

44. Insurers commonly band the hospital accommodation to which their customers may 

have access according to … 

(a) the cost of services and the treatment provided 

(b) number of doctors and nursing working for them 

(c) government regulation   (d) None of the above 

 

45. Which of these is not a rough category of Personal PMI? 

(a) Standard (b) mid-range (c) basic  (d) International 

 

46. Hospital charges will apply to all except … 

(a) operating theatre facilities   (b) prosthesis 

(c) recuperation     (d) day case treatment 

 

47. Treatment that does not require patient to stay in hospital overnight is … 

(a) in patient treatment    (b)  complementary therapies 

(c) prosthesis     (d) day case treatment 

 

48. … is not a classification of surgical procedure.  

(a) major plus (b) intermediate  (c) minor      (d)      standard 

 

49. The procedure for the removal of skin legion for an anaesthetist is classified as … 

(a) major plus (b) intermediate  (c) minor      (d)      standard 

 

50. The procedure for heart by-pass for a surgeon is classified as … 

(a) major plus (b) intermediate    (c) minor      (d)      complex major 



51. The procedure for Partial thyroidectomy for an Anaesthetist is classified as … 

(a) major plus (b) intermediate    (c) minor      (d)      complex major 

 

52. … is the term for x-rays/body scans.  

(a) Prosthesis  (b) Pathology  (c) Radiology  (d) Physiotherapy 

 

53. The increase in the cost of equipment or surgical procedure is referred to as … 

(a) medical cost inflation   (b) RPI 

(c) billing     (d) accommodation fees 

 

54. The Four-or Six-Week Policies are forms of … 

(a) mid-range policies   (b) comprehensive policies 

(c) international policies   (d) budget policies 

 

55. Medical Savings Plans combine some forms of savings with … insurance.  

(a) travel   (b) fidelity  (c) medical  (d) money  

 

56. The item not covered by an insurance policy is called a/an ... 

(a) exclusion (b) endorsement (c) warranty  (d) band 

 

57. Which of these is usually paid for by the employer and based on a personal policy, 

perhaps with discounted premiums? 

(a) Small Group Schemes   (b) Middle Group Schemes 

(c) Large Group Schemes   (d) Affinity Schemes 

 

58. Which of these is set up by the employer but paid for by the employee? 

(a) Small Group Schemes   (b) Middle Group Schemes 

(c) Large Group Schemes   (d) Affinity Schemes 

 

59. Which of these schemes that will cover employees who are less than 50? 

(a) Small Group Schemes   (b) Middle Group Schemes 

(c) Large Group Schemes   (d) Affinity Schemes 

 

60. What is Morbidity risk? It is the risk of … 

(a) dying     (b) getting involved in accidents 

(c) falling sick    (d) disability 

 

SECTION B – ATTEMPT ALL QUESTIONS (Questions from 61 to 85)  
Answer True (T) or False (F).   
61. The main advantage to be gained by people buying private medical treatment is that they 

will have more waiting time for surgeries.  

62. PMI policies routinely include cover for the costs incurred as a result of normal 

pregnancy and childbirth.  

63. Provident associations were introduced during the 1920s and 1930s.  

64. Medical insurance is designed to pay for the treatment of acute medical conditions.  

65. Examples of chronic conditions include asthma and diabetes.  

66. PMI pays for the treatment of only in-patients.  

67. The PMI policy will be cancelled if the insured is sick.  

68. The insurer could also cancel the policy if fraud is suspected.  



69. Few PMI policies cover private consultations with a GP or the costs of medical services 

that are used in the treatment of pre-existing conditions. 

70. Geographical location does not tend to determine the price band of a hospital or a hospital 

room.  

71. Basic Personal PMI products gives the widest scope of cover.  

72. Radiology is same as blood and urine test.  

73. Limited benefit policies concentrate on providing cover for the more important or 

expensive types of treatment such as in-patient costs and day case treatment.  

74. Corporate deductible policies are conventional PMI policies but where the employer has 

chosen to have a large deductible. 

75. One of the disadvantages of flexible benefits schemes is that employees have control over 

the benefits they choose reflecting their lifestyle. 

76. Members of an affinity group may get discounts as long as they remain a member of 

 that affinity group. 

77.  Most traditional schemes simply exclude all pre-existing conditions. 

78.  Travel insurance covers all pre-existing conditions. 

79.  Income protection is usually underwriting in the same way as a life insurance policy.  

80.  Critical Illness insurance is usually underwritten in the same way as life insurance policy.  

81. Health insurance is a social security system that guarantees the provision of needed health 

services to persons on the payment of contributions at regular intervals.  

82. The international health insurance also pays for hospital bills incurred locally.  

83. An international medical insurance policy may cover drugs and dressing.  

84. Individuals with major medex style products may not choose to have treatment abroad.  

85.  A key element of travel insurance policy is cover for health treatment abroad. 
 

SECTION C – ATTEMPT ALL QUESTIONS (Questions 86 – 100) 

Read the cases below carefully and answer the questions which follow.  
 

Mr. Kofi Achibong is a 75 year-old man who had retired but bought an insurance policy to take 

care of his activities of daily living. While he was in service, he had purchased a policy that was 

to protect the mortgage he had taken from the bank as well as another insurance policy to take 

care of a range of specified illnesses that are life-threatening. 

 

86. Which of these policies will cover activities of daily living? 

(a) Critical Illness Insurance  (b) Long-Term Care Insurance 

(c) Payment Protection Insurance (d) Pre-Funded Policy  

 

87. The policy that will protect the mortgage is a … 

(a) Critical Illness Insurance  (b) Long-Term Care Insurance 

(c) Payment Protection Insurance (d) Pre-Funded Policy  

 

88. … policy will pay if the insured contacts cancer.  

(a) Critical Illness Insurance  (b) Long-Term Care Insurance 

(c) Payment Protection Insurance (d) Pre-Funded Insurance  

 

89. … policy will allow Mr. Achibong to pay either regular premium or a single premium 

onto the insurance policy. 

(a) Critical Illness Insurance  (b) Long-Term Care Insurance 

(c) Payment Protection Insurance (d) Pre-Funded Policy  

 



90. In the case that Mr. Achibong contacted cancer, in what mode will he get his benefit? 

(a) Annuity (b) Instalment (c) Lump Sum (d) Regular 

 

Miss. Yetunde Precious works with an insurance company in Lagos Island and she wants to 

travel to Germany for treatment for her ill health. She also wants to buy individual policy for 

her family to top up the one from the government provided insurance scheme. 

 

91. Which policy will she buy for her travel risk? 

(a) Travel Insurance    (b)    PMI    (c)  International Medical Insurance    (d)  NHIS 

 

92. What policy will cater for her treatment while in Germany? 

(a) Travel Insurance    (b)    PMI    (c)  International Medical Insurance    (d)  NHIS 

 

93. Which of these is not an exclusion in the policy to cater her treatment in Germany? 

(a) Pre-Existing Conditions  (b) GP costs 

(c) Regular Screenings   (d) Surgery in Germany  

 

94. Which of these is the individual policy that she will buy? 

(a) Travel Insurance    (b)    PMI    (c)  International Medical Insurance    (d)  NHS 

 

95. The individual policy will cover the payment for … 

(a) cancer treatment   (b) lump sum on diagnosis of cancer 

c) malaria treatment    (d) surgery in India 

 

Chief Chinedu lives in Akwa and wants to travel to China for both business and pleasure. He 

also wants an insurance policy to cover the trip and also an accident insurance policy within his 

metropolis for 24 hours. 

 

96. What policy will cover the risks of his travelling to China? 

(a) National Health Insurance  (b) Medical Insurance  

(c) Travel Insurance   (d) Personal Accident Insurance 

 

97. Which of these policies will cover for 24 hours the risk of travelling in his State in 

Nigeria? 

(a) National Health Insurance  (b) Medical Insurance  

(c) Travel Insurance   (d) Personal Accident Insurance 

 

98. In which of these policies is there a benefit of 104 weeks? 

(a) National Health Insurance  (b) Medical Insurance  

(c) Travel Insurance   (d) Personal Accident Insurance 

 

99. If Chief Chinedu had an accident while in China, which of these policies that will pay for 

the loss? 

(a) National Health Insurance  (b) Medical Insurance  

(c) Travel Insurance   (d) Personal Accident Insurance 

 

100. In case Chief Chinedu had an accident while in Akwa, which of these policies that will 

pay him benefit for the loss? 

(a) National Health Insurance  (b) Medical Insurance  

(c) Travel Insurance   (d) Personal Accident Insurance 



Chief Examiner’s Comments 

78% of the candidates that presented themselves for the examination passed, which is impressive 

compared to the 6% in the October 2024 diet.  
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There is a remarkable improvement in this diet examination. 
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INSTRUCTIONS TO CANDIDATES 

 
READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS 
 

Section A  
The questions 1 – 60 in this paper are numbered and four options follow each question. 
The options are labeled a,b,c,d. Only one of these options is correct. Select your answer 
for each question and indicate it on the answer form by filling in the appropriate box. 
 
Example:  
The major role of a Broker in claims processing is to … 
(a) pay the claim  (b) support the insurer (c) support the insured  
(d) be the intermediary between the insurer and the insured.  
 
The correct option is (d).  
 
 

Section B   
Questions 61 – 85 are to be answered as either True (T) or False (F). Select your chosen 
option and indicate it on the answer form by filling in the appropriate box.  
 
Example:  
The insurance market consists of different categories of intermediaries. (True or False).  
The correct option is True (T).  
 
Section C  
Questions 86 – 100. This section contains three (3) case studies each followed by five 
questions. The case studies are not numbered and appear at the top of the page. Each 
of the five questions following a case study is numbered. Four options follow each 
question. The options are labelled, a, b, c, d. Only one of these options is correct or best. 
Select your answer for each question and indicate it on the answer from by filling in the 
appropriate box.  
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SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 – 60) 
 

1. Anyone who acts on behalf of another person is referred to as ... under common law. 

(a) the principal     (b) an instructor 

(c) an agent     (d) the facilitator  
 

2. An insurance broker assists clients in various ways, except ... 

(a) risk evaluation and assessment   

(b) ensure prompt payment of claims. 

(c) ensuring attendance of meetings with the regulator   

(d) annual review of the insurance portfolio 
 

3. The complexities of the remuneration process can be confusing for clients, as the payment 

to brokers is made by the insurer from the premium. This has been a potential source of 

… for brokers. 

(a) problem     (b) conflict of interest 

(c) administrative problem   (d) area of dispute 
 

4. A key advantage of the business relationship between brokers and underwriters is … 

(a) prompt claim settlement   (b) prompt underwriting 

(c) peace of mind     (d) reciprocity 
 

5. The NCRIB Act was enacted in Year … 

(a) 2008  (b) 2007  (c) 2005  (d) 2003 

 

6. The British Insurance Brokers' Association merged with the Institute of Insurance 

Brokers in Year … 

(a) 2010  (b) 2011  (c) 2013  (d) 2017 

 

7. … is not a requirement for the registration of corporate insurance brokers in Nigeria. 

(a) Principal Officers    (b) Details of Director 

(c) Statutory Deposit at CBN   

(d) Submission of copy of Memorandum and Article of Association 
 

8. ,,, is/are (a) statutory insurance policy(ies) in Nigeria.  

 (a) Marine Insurance    (b) Cross Liability Insurance 

 (c) Engineering Insurance   (d) A and C 
 

9. … is the term for the value-added service provided by insurance brokers when they assist 

clients in identifying exposure to internal and external threats and planning for business 

continuity in the event of fire or supply chain disruptions.  

(a) Risk Survey     (b) Liability Survey 

(c) Business Continuity Planning   (d) Environmental Risk Survey 
 

10. The process of outsourcing certain activities of a broking firm to another organisation to 

act on its behalf is called … 

(a) risk transfer     (b) outsourcing 

(c) risk balancing     (d) resource control 
 

11. Insurance contracts are based on the principle of utmost good faith. A key summary of 

this principle was provided in the case of … 

(a) Rozanes v. Bowen 1928   (b) Rozanes v. Bowen 1938 

(c) Rozanes v. Bowen 1948   (d) Rozanes v. Bowen 1958 



12. The purpose of the “suitability statement” used by brokers is to … 

(a) establish the suitability of the Brokers 

(b) establish the suitability of the underwriter 

(c) ensure the customer has the necessary information for decision making on 

whether to buy or not buy a specific insurance 

(d) ensure the customer demand and wants are met 

 

13. In Nigeria, the current Insurance Act was enacted in Year …  

(a) 2000  (b) 2003  (c) 2005  (d) 2007 

 

14. It is important for brokers to know their clients and such information can be obtained 

from politically exposed persons by completing the ,,, form.  

(a) KYC  (b) PEP      (c)     proposal  (d) Brokers questionnaires.  

 

15. A concept that ensures all terms and conditions of an insurance policy are agreed upon 

before the insured and insurer commit to the contract is called ... concept.  

(a) agreed and understood   (b) clear and concise 

(c) contract clarity    (d) contract certainty 

 

16. In Nigeria, brokers' remuneration for different classes of business is fixed and regulated 

by… 

(a) Nigerian Council Registered Insurance Brokers     

(b)     Nigerian Insurers Association 

(c) Insurance Act    (d) National Insurance Commission 

 

17. Traditionally, brokers managed all claims on behalf of their clients, addressing all issues 

until settlement. This is known as… 

(a) brokers claim adjustment service (b)   brokers acting as client’s advocate 

(c) brokers claim treatment service  (d) A and B 

 

18. A Broker can manage the entire claims process on behalf of the client, including 

appointing loss adjusters, collecting claim payments from the insurer and directly 

compensating the client. In this scenario, the broker is providing … 

(a) claims advocacy role    (b) full claims service 

(c) delegated authority claims handling  (d) prompt service 

 

19. A major challenge a broker may encounter when structuring an insurance program for 

the client is … 

(a) clearance with NCRIB   (b) clearance with NIA 

(c) insurers     (d) global clearance 
 

20. The Consumer Insurance (Disclosure and Representation) Act 2012 of the United 

Kingdom (UK) applies to … 

(a) individual consumers only     (b) consumers including commercial customer 

(c) commercial customer only  (d) insurance company and brokers 
 

21. The fundamental factors distinguishing a Lloyd’s broker from other insurance brokers 

include… 

(a) placing business only at Lloyd’s  (b) asset base 

(c) management structure   

(d) many of the risks placed by Lloyd’s brokers 



22. Lloyd’s managing agents are required to be approved by the PRA. PRA stands for… 

(a) Process Regulation Authority  (b) Prudential Regulation Authority 

(c) Practice Regulation Authority (d) Program Regulation Authority 

 

23. Lloyd’s is known as a subscription market because … 

(a) members pay subscription yearly 

(b) majority of risk placed are shared using a number of participating underwriters 

who follow the term set by the lead underwriter. 

(c) members pay subscription monthly  (d) all of the above 

 

24. In the reinsurance market, the insurance company placing the business is called the… 

(a) reinsurer (b) cedant (c) retrocedant (d) retrocessionaires 

 

25. The reinsurer who accepts placement from another reinsurer is called … 

(a) the second reinsurer    (b) the retrocessionaires 

(c) wholesale reinsurer    (d) retrocession 

 

26. One of the key benefits of a structured method for measuring risks is found in risk … 

(a) survey (b) management (c) evaluation (d)  identification 

 

27. The risk management process consists of three steps, starting with risk identification and 

ending with risk control. Risk … is the intermediate step between risk identification and 

risk control. 

(a) elimination (b) survey  (c) analysis (d)      prevention 

 

28. Recommending the installation of an intruder alarm for office contents insurance after 

completing a survey is a clear example of risk … 

(a) identification (b) control  (c) elimination (d)      prevention 

 

29. The need to retain a premium in-house that would otherwise go to an insurer is the 

essence of … 

(a) appointing a managing agent   (b) capture insurance company 

(c) risk floating     (d) high retention 
 

30. Other services a broker provides to clients and insurers include .,, 

(a) security service    (b) conduct compliance 

(c) outsourcing     (d) all of the above 

 

31. The report submitted by the coverholder detailing the risks underwritten and claims 

reported, typically on a monthly basis, is called a … 

(a) statement of account    (b) cession 

(c) bordereau     (d) monthly report 
 

32. In a delegated authority agreement, an insurer cannot delegate … activity.  

(a) underwriting     (b) credit control 

(c) document issuance and management  (d) employees assessment 
 

33. One main benefit of a delegated authority agreement to the coverholder is… 

(a) improved services for their clients  (b) conflict of interest 

(c) potential dependency on a single market (d) increased workload 
 



34. The law of agency requires a broker to perform the following duties, except …. 

(a) exercise reasonable skill and care in the performance of their principal’s 

instructions. 

(b) to observe the duty of utmost good faith 

(c) to observe the duty of accountability   

(d) the observed duty of obedience 
 

35. The requirement to avoid potential conflicts of interest when a broker represents both the 

insured and the insurer was established in the case of … 

(a) North and South Trust Company v. Berkeley (1970) 

(b) South and North Trust Company v. Berkeley (1980) 

(c) North and South Trust Company v. Berkeley (1980) 

(d) South and North Trust Company v. Berkeley (1970) 
 

36. Terms of Business Agreements (TOBA) are designed to address conflicts of interest in 

relationships between brokers, clients, and insurers. These agreements typically include 

several key elements except … 

(a) details of service provided   (b) the brokers' remuneration 

(c) financial penalty for violating the agreement     (d) regulatory information 
 

37. What is the full meaning of NCRIB? 

(a) National Council of Registered Insurance Brokers. 

(b) Nigerian Corporation of Registered Insurance Brokers 

(c) National Corporation of Registered Insurance Brokers 

(d) Nigerian Council of Registered Insurance Brokers 
 

38. NAICOM Act was enacted in Year … 

(a) 2007  (b) 2003  (c) 1997  (d) 1995 

 

39. The process of introducing, facilitating or handling tasks related to the formation of an 

insurance contract, including its conclusion, administration and claims support, is known 

as insurance … 

(a) intermediating (b) arrangement (c)      mediation (d) agency 

 

40. An individual authorised by NAICOM to carry out one or more controlled functions on 

behalf of a licensed firm is referred to as the … 

(a) CEO   (b) compliance person (c) approved person (d)   management 

 

41. … is the daily fine imposed by NAICOM for late filing of annual returns by a registered 

insurance broking firm.  

(a) N10,000.00 (b) N5,000.00 (c) N3,000.00 (d) N2,000.00 

 

42. … is the interest rate applied to unpaid insurance levies after the deadline, above the 

Central Bank of Nigeria's Minimum Rediscount Rate (MRR).  

(a) 1%  (b) 2%  (c) 2.5%  (d) 5% 

 

43. All suspicious transactions, including the amounts involved and outstanding, must be 

reported to the NFIU within seven days. In this instance, NFIU stands for … 

(a) Nigerian Fraud Intelligence Unit (b) National Financial Intelligence Unit 

(c) Nigerian Financial Intelligent Unit (d) National Fraud Intelligence Unit 

 



44. The payment of an insurance premium is a condition precedent to the validity of an 

insurance contract, and no cover shall exist for an insurance risk unless the premium is 

paid in advance. This is stipulated under… 

(a) S.50 of NAICOM Act    (b) S.60 of NAICOM Act 

(c) S.50 of Insurance Act    (d) S.60 of Insurance Act 
 

45. In certain circumstances, brokers receive money from the insurer that rightfully belongs 

to the policyholder. This is referred to as … funds.  

(a) insurers  (b) brokers  (c) return   (d) client assets 
 

46. The compensation received by a broker directly from the client for their services is 

referred to as… 

(a) brokerage (b) commission (c) fees  (d) reimbursement 
 

47. Motor insurance is a highly competitive sector for brokers, where policyholders may 

switch brokers annually to secure better deals. This practice is referred to as… 

(a) sticky   (b) churn  (c) loss business    (d) competition 
 

48. Proper training and competence of a broker's staff are essential for a successful broking 

business. A broking firm with high staff turnover may experience a lower … 

(a) churn rate     (b) client’s retention 

(c) retained Earnings    (d) commission rate 
 

49. To enhance client retention, broking firms should prioritise investments in key areas 

while allocating fewer resources to … 

(a) quality staff   (b) good IT system and communication 

(c) provide adequate training   (d) promoting NCRIB 

 

50. Insurance broking is a profession built on trust. It plays a crucial role in the business 

process and is strengthened each time the broker meets or surpasses the client's 

expectations. When earned, it becomes a valuable asset known as … 

(a) trust benefits     (b) trust assets 

(c) trust capital     (d) capital assets 

 

51. Poor service arises from failing to meet client expectations. … contributes to poor 

service.  

(a) Always completing what has been agreed by the deadline 

(b) Returning client calls and messages impromptly 

(c) Knowing the clients 

(d) Avoidance of error and omissions 

 

52. The strength of an organisation's culture depends on the extent to which it is understood 

and embraced by the … 

(a) management     (b) board of directors 

(c) employees     (d) the regulator 

 

53. Errors & Omissions (E&O) claims arise when a broker's mistake results in a client's 

financial loss. In the United Kingdom (UK), clients are indemnified under the broker’s 

E&O Insurance policy. In Nigeria, this policy is known as… 

(a) Fidelity Bond     (b) Brokers Guarantee Policy 

(c) Professional Indemnity Policy  (d) Brokers Liability Policy 

 



54. … is not a limiting factor for a broker’s choice of insurer/underwriter to trade with. 

(a) Regulation.     (b) Class of Business 

(c) Branch Network.    (d) Financial Security 
 

55. The relationship between brokers and their clients is such that brokers must not exploit 

their position for personal gain. This type of relationship is known as … relationship. 

(a) contractual      (b) fiduciary  (c) business  (d) client service 
 

56. In order to manage conflicts of interest, meet clients’ needs and satisfy the regulatory 

requirement to disclose certain information to clients, Broking firms produce formal 

written agreements with their clients and insurers known as … 

(a) Terms and Conditions of Agreements                                                                                                                                                                                                                                                                                      

(b) Terms of Contractual of Agreements 

(c)  Terms of Business Agreements    (d) Terms of Business Understanding 
 

57. As part of its role in setting standards for the conduct of insurance business in Nigeria 

and supporting the government's efforts to enhance operational transparency and ease of 

doing business, NAICOM issued guidelines for all insurance institutions under the title… 

(a) operational conduct and business practice guidelines 

(b) business conduct and operational guidelines 

(c) market conduct and business practice guidelines 

(d) operational and business conduct guidelines 
 

58. NAICOM has the authority to prosecute various offenses, including… 

(a) carrying on a regulated activity without being a member of NCRIB 

(b) carrying on a regulated activity without documentation 

(c) carrying on a regulated activity without authorisation 

(d) carrying on a regulated activity without record 
 

59. … is not required by NAICOM for the renewal of a broker's license. 

(a) Schedule of Business Transacted 

(b) Evidence of Payment of Renewal fee 

(c) Copy of CAC form C2.2 

(d) Current Company’s Tax Certificate. 

 

60. In broking, Client Assets refers to… 

(a) money in the broker’s custody belonging to the insurer 

(b) money in the broker’s custody belonging to the insured 

(c) money in the broker’s custody belonging to possibly both the insured and 

insurer 

(d) money in broker custody belonging to the regulator. 

 

SECTION B – ATTEMPT ALL QUESTIONS (Questions from 61 to 85)  
Answer True (T) or False (F).   
61. The term “insurance broker” is generally used in the market to describe organisations that 

offer independent advice, acting in the best interest of their clients rather than being tied 

to a specific insurer. 

 

62. The main distinguishing feature of an insurance agent compared to other intermediaries 

is that when placing business, the insurer is their principal, not the client, to whom they 

are introducing the business. 

 



63. Insurance brokers exist to support their clients in various ways; however, this does not 

include providing personalised insurance services and consultancies. 

 

64. NCRIB was established to offer financial assistance to its members during times of 

difficulty. 

 

65. NCRIB membership is classified into corporate and partnership categories. 

 

66. If a broker fails to disclose a material fact to the insurer that was provided by the client, 

it is an error that could result in a claim under the broker’s professional indemnity policy. 

 

67. A broking firm authorised to conduct reinsurance business is expected to maintain a 

database of available reinsurance markets, including the solvency ratings and financial 

strength ratings (FSR) of individual reinsurers. 

 

68. In insurance practice, both brokers and agents are referred to as independent 

intermediaries. 

 

69. One reason insured individuals purchase insurance through brokers is for convenience. 

 

70. The number of years a client’s business has been in operation is a common criterion for 

segmentation in broking. 

 

71. Back office function is not one of the roles within an Insurance broking organisation. 

 

72. Only Lloyd’s Brokers are authorised to transact business directly at Lloyd’s. 

 

73. The Market Conduct and Business Practice Guidelines issued by NAICOM give due 

consideration to the interests of all stakeholders in the insurance industry. 

 

74. The process of negotiating and placing insurance to effectively meet the client's needs is 

referred to in the insurance market as marketing excellence. 

 

75. In Nigeria, the Insurance Act states that notwithstanding any provision in any written law 

or enactment to the contrary, if there is a breach of a term in an insurance contract, the 

insurer has the right to repudiate the whole or any part of the contract. 

 

76. Insurance brokers, as independent intermediaries, have the freedom to choose which 

insurer and products best meet their client's needs. In their selection process, brokers 

often prefer insurers that are listed on the stock exchange.  

 

77. With a wide range of insurers to choose from, the Nigerian Insurance Act requires brokers 

to conduct a fair analysis. To achieve this, brokers must evaluate a sufficient number of 

insurers, ensuring the selection is broad enough to demonstrate their expertise and 

understanding of the relevant market sector. 

 

78. In Nigeria, under a Delegated Authority for claims handling, the broker assumes full 

responsibility for managing claims, acting on behalf of the insurer and authorising claim 

payments. 

 



79. All new insurance products must receive approval from NAICOM in accordance with 

the requirements of the Insurance Act in Nigeria. 

 

80. In the insurance market cycle, when capital markets withdraw from the insurance sector, 

competition drives rates lower.  

 

81. When submitting a risk to an underwriter, a broker must ensure that all material and 

relevant information is provided, solely through the proposal form. 

 

82. One of the broker's key objectives when presenting and explaining terms to clients is to 

ensure that the client fully understands the coverage, as well as any applicable terms and 

conditions. 

 

83. Corporate culture refers to the shared values, attitudes, standards, and beliefs that 

characterises an organisation's members and shape the identity of the organisation.  

 

84. Risk retention is a key consideration for brokers when designing an insurance program 

for the insured. 

 

85. In Nigeria, to register as a partnership insurance Broker, the Managing Partners must be 

current members of NCRIB. 

 

SECTION C – ATTEMPT ALL QUESTIONS (Questions 86 – 100) 

Read the cases below carefully and answer the questions which follow.  
 

AMNI Petrochemical Company Limited, a multinational oil company with its head office in the 

UK, has appointed Alternative Insurance Brokers Limited as the intermediary for its various 

insurance portfolios. The insurance program for AMNI was placed with Pacific Insurance 

Company, which has an existing agreement with Alternative Insurance Brokers for underwriting, 

claims handling and settlement. This arrangement implies that Alternative Alpha Insurance 

Brokers is acting as both the broker and the underwriter, thereby being responsible for settling 

claims when they arise. 

 

86. Under what circumstances can a broker act as an agent for both the insured and the insurer 

simultaneously? 

(a) As a reinsurance broker on the same risk (b) As a coverholder 

(c) Delegated authority agreement  (d) All of the above 
 

87. Who acts as the Coverholder in the arrangement described above? 

(a) Pacific Insurance Company Limited (b) Alternative Insurance Brokers 

(c) AMNI Petrochemical Company Limited (d) None of the above 
 

88. What is the term for an organisation that underwrites insurance risk and primarily serves 

one or more insurance companies or providers of insurance capacity? 

(a) Coverholder     (b) Reinsurer 

(c) Managing General Agents   (d) Alternative Risk Transfer. 
 

89. What is the name of the report submitted by the Coverholder, detailing the risks 

underwritten and claims reported, typically on a monthly basis? 

(a) Cession (b) Statement of Accounts      (c) Bordereau (d) Template 
 



90. How does the Coverholder resolve the apparent conflict of interest in the arrangement 

described above? 

(a) Regulation     (b) Separate Management 

(c) Audit and monitoring    (d) Bordereau 

 

Irish Garden Investment Company Limited, a licensed insurance agent, purchased a brand-new 

Range Rover valued at ₦100,000,000.00 and decided to insure it through Quick Insurance 

Brokers Limited. 

 

The broker arranged a comprehensive insurance policy for the vehicle, placing the coverage with: 

• ABC Insurance Company Limited as the lead insurer with 50% of the risk, 

• Frontline Insurance Company with 20%, and 

• Ocean View Insurance Company Limited with 30%. 

 

91. Who is recognised as the agent in the above insurance transaction under common law? 

(a) Irish Garden Investment Company Limited  

(b) Quick Insurance Brokers Limited  

(c) ABC Insurance Company Limited  

(d) Frontline Insurance Company Limited  

 

92. Who acts as the intermediary in the insurance placement described above? 

(a) Irish Garden Investment Company Limited  

(b) Quick Insurance Brokers Limited  

(c) ABC Insurance Company Limited  

(d) Frontline Insurance Company Limited  

 

93. Who is the principal in the insurance transaction described above? 

(a) ABC Insurance Company Limited  

(b) Quick Insurance Brokers Limited  

(c) Irish Garden Investment Company Limited  

(d) Frontline Insurance Company Limited  

 

94. What is the relationship between the three insurance companies called? 

(a) Reinsurance arrangement  (b) Facultative arrangement 

(c) Co-Insurance arrangement (d) Quota Share Reinsurance arrangement 

 

95. If the premium is calculated at 10% and the broker's commission is 12.5%, what share of 

the premium will Ocean View Insurance Company Limited receive? 

(a) N8,750,000.00    (b) N3,000,000.00   

(c)     N2,625,000.00    (c) N1,250,000.00 

 

 

 

 

 

 

 

 

 



Mr. Fola Opeolu, the Managing Director of Ocean Oil Company Limited, engaged ABC 

Insurance Brokers to place the company's oil rig insurance with XYZ Insurance Company 

Limited. XYZ Insurance Company Limited, able to accept only 10% of the risk, instructed ABC 

Insurance Brokers to place the remaining 90% with other interested insurers. 

 

After securing regulatory approval, ABC Insurance Brokers contacted Braithwaite Brokers at 

Lloyd's, who successfully placed the remaining 90% of the risk with Lloyd's syndicate. 

 

96. Who acts as the Retail Agent in this transaction? 

(a) Braithwaite Broker at Lloyds   (b) ABC Insurance Brokers 

(c) Mr. Fola Opeolu    (d) None of the above 

 

97. Who is the principal in the relationship described above? 

(a) Mr. Fola Opeolu    (b) Ocean Oil 

(c) ABC Insurance Brokers   (d) Lloyds syndicate 

 

98. What is the term for Braithwaite Brokers at Lloyd's, who placed 90% of the risk? 

(a) The Retail Broker    (b) The Wholesale Broker 

(c) The Insured Broker    (d) The Insured Agent 

 

99. What type of relationship exists between Ocean Oil Company Limited and ABC 

Insurance Brokers? 

(a) Intermediation Relationship   (b) Agency Relationship 

(c) Broking Relationship   (d) Master and Servant Relationship 

 

100. What is the term for the 10% share of the risk accepted by XYZ Insurance Company 

Limited? 

(a) Cession (b) Capacity (c) Retention (d) Subscription 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Chief Examiner’s Comments 

The contents of the course were well covered; however, the performance of the candidates was 

just above average as 56% of the candidates passed the examination. There is a need to read and 

study the coursebook thoroughly.  

 

Comments on Overall Performance 

The overall performance was average and could be better.  

 

Suggestion(s) on Improvement(s) (if any) 

Candidates are encouraged to prepare thoroughly for the examination and take advantage of 

available tutorial sessions. 

 

 

 

 

 

 

 

F10 – INSURANCE BROKING PRACTICE I 

1 C 21 D 41 B 61 T 81 F 

2 C 22 B 42 C 62 T 82 T 

3 B 23 B 43 C 63 F 83 T 

4 C 24 B 44 C 64 F 84 T 

5 D 25 B 45 D 65 F 85 T 

6 B 26 B 46 C 66 T 86 D 

7 C 27 C 47 B 67 T 87 B 

8 A 28 B 48 B 68 F 88 C 

9 C 29 B 49 D 69 T 89 C 

10 B 30 A 50 C 70 F 90 B 

11 A 31 C 51 B 71 F 91 B 

12 C 32 D 52 B 72 F 92 B 

13 B 33 A 53 C 73 F 93 C 

14 B 34 B 54 C 74 F 94 C 

15 D 35 A 55 B 75 F 95 C 

16 D 36 C 56 C 76 F 96 B 

17 B 37 D 57 C 77 T 97 B 

18 C 38 C 58 C 78 T 98 B 

19 C 39 C 59 D 79 T 99 B 

20 A 40 C 60 C 80 F 100 C 

 

 


